SCE HOUSEHOLD FINANCE SURVEY PUBLIC
QUESTIONNAIRE

The following questionnaire includes items which correspond to variables that are currently released in the SCE
Household Finance Survey microdata. Questions that were included in earlier waves ofthe survey, butare nolonger
fielded, do not appear in this questionnaire or in the microdata. All items that are currently fielded are included
belowand in the microdata. Questions with multiple response options limit respondents to choosing one option
unless otherwise noted.

April 20,2021

SectionAintro - SectionAintro

We are interested in learning more aboutyour current financial situation, and your outlook for the future. This
survey takes about20 to 30 minutes. You willreceive $Af( CAMNT )" for completing the survey.

Most of the questions in this survey haveno right or wrong answers - we are interested in your views and opinions.
Yourresponses are confidential, and it helps us a great dealif you respond as carefully as possible. If youshould

come to any question that youcan'tor don’t wantto answer, just click on 'NEXT’ and wait for the next questionto
appear.

Thankyouforyourparticipation!

Alnew- Alnew
[Not required)
Could you tellus whatyour current living situation is? ~f(’qhidInst')[5].label()*

Q Married orliving with a partner (1)
Q Separated(2)

Q Divorced (3)

Q Widowed (4)

Q NeverMarried (5)

xQ38
[Hidden variable]

Q Married (1)
Q Alone (2)

Q45new-Q45new

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper limit=99 ¢
Upper limit type=SmallerOrEqual)
Please tellus howmany ofthe following people usually live in your primary residence, other than yourself

(including those who are temporarily away):
(As a reminder, by primary residence we meantheplace whereyouusually live).



ANumericOnly(CurrentForm+’"_1’)""NumericOnly(CurrentForm+’_2’)""NumericOnly(CurrentForm+"_3’)"
ANumericOnly(CurrentForm+’_4’)"""NumericOnly(CurrentForm+’_5)""NumericOnly(CurrentForm+’_6)"
ANumericOnly(CurrentForm+’_7)""NumericOnly(CurrentForm+’"_8)"

Spouse/partner (1)

Children ages 25 orolder(2)

Children ages 18 t024(3)
Childrenages6to 17 (4)

Children ages 5 oryounger (5)
Youroryourspouse/partner’s parents (6)
Otherrelatives (like siblings or cousins) (7)
Non-relatives (like roommates or renters) (8)

Q45newdk

$(document).ready(function(){ $ Cinput:text’).keypress(function() {$('input:checkbox’).remove Attr(checked’)})
$(Cinput:checkbox’).parent().parent().click (function() {$(input:text’).val("")}) })

U None of the above, I live alone (1)

Q45new2 - Q45new2

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper limit=99 ¢
Upper limit type=SmallerOrEqual)

And howabout 12 months ago, how many ofthe following people were living in your primary residence, other than
yourself (including those who were temporarily away):

ANumericOnly(CurrentForm+’_I’)"NumericOnly(CurrentForm+’_2’)""NumericOnly(CurrentForm+’_3)"
"NumericOnly(CurrentForm+’_4’)"NumericOnly(CurrentForm+’_5)""NumericOnly(CurrentForm+’_6)"
"NumericOnly(CurrentForm+’_7")""NumericOnly(CurrentForm+’"_8)"

Spouse/partner (1)

Children ages 25 orolder(2)

Children ages 18 t024(3)
Childrenages6to 17 (4)

Children ages 5 oryounger (5)
Youroryourspouse/partner’s parents (6)
Otherrelatives (like siblings or cousins) (7)
Non-relatives (like roommates or renters) (8)

Q45new2dk

$(document).ready(function(){ $Cinput:text’).keypress(function() {$('input:checkbox’).remove Attr(’checked’)})
$(Cinput:checkbox’).parent().parent().click(function() {$(input:text’).val("")}) })

U None of the above, I lived alone (1)

Q45new3 - Q45new3

[Open Text ® Numeric ¢ Not required ® Lower limit=0* Lower limit type=GreaterOrEqual * Upper limit=99 ¢
Upper limit type=SmallerOrEqual)

And how about 12 months fromnow, how many ofthe following people do youexpect to be living in your primary
residence, other than yourself (including those who are temporarily away):



ANumericOnly(CurrentForm+’_1’)""NumericOnly(CurrentForm+’_2’)""NumericOnly(CurrentForm+"_3’)"
ANumericOnly(CurrentForm+’_4’)"""NumericOnly(CurrentForm+’_5)""NumericOnly(CurrentForm+’_6)"
ANumericOnly(CurrentForm+’_7)"NumericOnly(CurrentForm~+’"_8)"

Spouse/partner (1)

Children ages 25 orolder(2)

Children ages 18 t024(3)
Childrenages6to 17 (4)

Children ages 5 oryounger (5)
Youroryourspouse/partner’s parents (6)
Otherrelatives (like siblings or cousins) (7)
Non-relatives (like roommates or renters) (8)

Q45new3dk

$(document).ready(function(){ $ Cinput:text’).keypress(function() {$('input:checkbox’).remove Attr(checked’)})
$(Cinput:checkbox’).parent().parent().click (function() {$(input:text’).val("")}) })

U None of the above, I expectto live alone (1)

A3newa - A3newa
[Not required]
Do you currently live at the same address where youlived 12 months ago? (' qhidInst')[5].label()*

Q Yes (1)
Q No(2)

A3newb - A3newb
[Not required)
Please indicate which of the following applies to you: “f(’ghidInst’)[5].label()*

Q Imovedto a differentstate (1)

Q Imovedto a differentcounty in the samestatel lived in 12 months ago (2)

Q Imovedbutstilllive in the samestateand county I lived in 12 monthsago (3)
[Keepposition ® Other]

A3newc- A3newc
[Not required]
What was the reason for yourmove? ~(ghidInst’)[7].label()*

U Job change/jobtransfer (1)

U To attend an educational institution (8)
U Birth of child(ren) (2)

U Departure of child(ren) to college (3)

U Marriage ormovingin with a partner (4)
U Divorce orseparation(5)

U Foreclosure orbankruptcy (6)

U Financial difficulties (7)

U Was forced outof my previous residence by landlord orbank (14)
U To take care ofanolderrelative (9)

U Move into better schooldistrict (10)



U Wantedto move to a different type of home (e.g., apartment to a house, more bedrooms, wanted to downsize,
etc.)(11)

U Wanteda moreaffordable housingsituation (12)

U Other(please specify) (13) ___[Keepposition ® Other|

Cl6Version
[Hidden variable]
selects which version respondent will see -- hidden in live survey

Q Version 1 (1)
Q Version 2 (2)

C3new
[Not required]

We would like to review some of the things that may have happened to you overthe past year. Have you
experienced a large increase or decrease in your household income during thelast 12 months (As a reminder, by
household we mean everyone who usually lives in your primary residence, excluding non-relatives (like roommates
and renters))? (' qhidInst’)[5].label()"

Q Yes (1)

QO No(2)

C3newl

[Not required]

What type oflarge change in yourhousehold income did you experience? ~(ghidInst’)[5].label()®

Q Alargeincrease (1)
Q Alarge decrease(2)

C3newladd-C3newladd

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=6 +
Columns=3]

By about what percent did your household income (' C3new1’).value()="1’? "increase" : "decrease""?
AM(qhidInst’)[9].label()®

(1) % (1)

C3newlaa-C3newlaa
[Not required]

To what extentwas the Mf(C3newl’).inc(1) ? "increase" : "decrease"” in your household income expected ornot?
M(qhidInst’)[1].Jabel()®

‘ Totally unexpected ‘ 1 | ‘ 2 | 3 ‘ 4 ‘ 5 | 6 ‘ Totally expected ‘ 7 | ‘
(h1) M) @@ [6)]® (h2) ()
oo Jolofofofofofo] o Jolo]

C3newla-C3newla

[Not required]



Which, if any, of the following events did you experience that were related to this large increasein household
income? ~M(qhidInst’)[24].label()"

A
= Z
|~ =<
> o

Someone in my household started anewjob(1)

I received a large inheritance (2)

My spouse/partner starteda newjob (3)

My spouse/partnerreceiveda large inheritance (4)

Otherindividual(s) with an income (not Mf("xQ38’).value()=="1" ? 'spouse/partneror’ : " self)
movedinto the household (5)
Someone in my household experienced a large increasein income(7)

Other (please specify): (6)

O|O| O [C]C|0|0
O|0| © [O]O|0

C3new2a-C3new2a
[Not required]

Which, if any, of the following events did you experience that were related to this large decreasein household
income? *M( qhidInst’)[24].label()*

No Yes
2)

Someone in my household waslaid off (1)
Someone in my household quit his/herjob (2)
My spouse/partner was laid off (3)

My spouse/partner quit her/hisjob (4)

Otherindividual(s) with an income (not “('’xQ38’).value()=="1" ? 'spouse/partneror’ : " self)
movedoutofthehousehold (5)
Someone in my household experienced a large decrease in income(7)

Other (please specify): (6)

O|0| © [O|0|0|0=
O|0| © [O]O|C[0

C3new6
[Not required]

Did yourhousehold experience a major change in your total wealth during the last 12 months? By “total wealth” we
meanallthe assetsyouown (suchas savings, house(s), business(es), land, vehicle(s),...) minus allthe debt you owe.

M(qhidInst’)[5].label()®

Q Yes (1)

Q No(2)

C3new6b

[Not required]

What type oflarge change in yourhousehold total wealth did you experience? (' ghidInst’)[5].label()*
Q Alargeincrease (1)

QO A large decrease(2)

C3new6badd - C3new6badd

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=6 ¢
Columns=3]



By about what percent did your household wealthMf(’C3new6b’).value()="1"? "increase" : "decrease""?
AM(qhidInst’)[9].label()®

9] % (1)

C3newéc

[Not required]

To what extentwas the increase in your household total wealth expected ornot? f(’ghidInst’)[1].label()*
‘Totallyunexpected‘ 1 2 | 3 ‘ 4 5 6 ‘Totallyexpected‘ 7 ‘

(h1) ® Q1A H G ]® (h2) (@)

oo Jolefefolofofof o fojo]

C3newée

[Not required]

Which event did you experience that was the primary reason for this large increase in household total wea lth?

C3new6d
[Not required)
To what extentwas the decrease in your household total wealth expected or not? f(’ghidlnst’)[ 1].label()*

‘ Tota]lyunexpected‘ 1 ‘ 2 | 3 ‘ 4 5 6 ‘ Totally expected ‘ 7 | ‘
—_— (h1) M) @B |1E®[6)]® (h2) ()
oo Jolofojofofofo] o Jolo]
C3new6f

[Not required]

Which event did you experience that was the primary reason for this large decreasein household total wea Ith?

C3new3
[Not required)

Haveyouf(’xQ38’).value()=="1"? ’and/or your spouse/partner : " experienced a major change in health during
thelast 12 months? ~f(’qhidInst’)[5].label()*

Q Yes (1)



Q No (2)

C3new3a
[Not required)

Which, if any, of the following events did you experience that were related to this change in health?
~M(qhidInst’)[5].Jabel()* I haveexperienced:

Q a large but temporary (or short term) improvementin my health (1)
Q alarge and permanent (or long term ) improvement in my health (2)
Q a large but temporary (or short term) deterioration in my health (3)
Q alarge and permanent (or long term) deterioration in my health (4)
Q 1did not experience a major change in my health (5) [Keep position]

C3new7d-C3new7d
[Not required]

To what extentwas your M('C3new3a’)any('1’,2") ? "improvement" : "deterioration"” in health expected ornot?
AM(qhidInst’)[1].label()™

‘Totallyunexpected‘ 1 ‘ 2 | 3 4 5 6 Totallyexpected‘ 7 ‘
(h1) €)) @16 |@® 6|6 (h2) ()
oo Jofofofofofojo] o oo
C3new3b

[Not required]

Which, if any, of the following events did your spouse/partner experience that were related to this change in health?
~M(qhidInst’)[5].Jabel()* My spouse/partner has experienced:

Q a large but temporary (or short term) improvementin health (1)
Q alarge and permanent (or long term ) improvement in health (2)
Q alarge but temporary (or short term) deteriorationin health (3)
Q alarge and permanent (or long term) deterioration in health (4)
Q My spouse/partner did not experience a major changein theirhealth (5) [Keep position]

C3new7d2 - C3new7d2
[Not required]

To what extentwas your spouse/partner’s (' C3new3b’).any('1’,2’) ? "improvement" : "deterioration"” in health
expected ornot? M('qhidInst’)[1].label()*

‘ Totally unexpected ‘ 1 ‘ 2 | 3 ‘ 4 ‘ 5 | 6 ‘ Totally expected ‘ 7 ‘
(h1) 1) UEROREORROREO) (h2) )
oo Jolofofofofofo] o oo

C3new4
[Not required]

Did you experience any of the following events during the last 12 months? *f(’ghidInst’)[ 7].label()*

U employer-provided health benefits were discontinued orreduced (1)
U employer-provided health benefits were started orincreased (2)
U employer’s contributions to my retirement plan were discontinued orreduced (3)



U employer’s contributions to my retirement plan were started or increased (4)
Q None of the above (5) [Keep position ® Exclusive]

C3news
[Not required]
Did your spouse/partner experienceany of the following events duringthelast 12 months? ~f(’ghidInst’)[7].label()*

U employer-provided health benefits were discontinued orreduced (1)
employer-provided health benefits were started orincreased (2)
U employer’s contributions to my spouse’s/partner’s retirement plan were discontinued orreduced (3)
U employer’s contributions to my spouse’s/partner’s retirement plan were started orincreased (4)
Q None of the above (5) [Keep position ® Exclusive]

B1-B1

[Open Text ® Numeric ¢ Not required * Lower limit=0 * Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Approximately, what was thetotal combined pre-tax income ofallmembers of your household (including you)
duringthe last 12 months ("f(MonthS’)* 2018 to July2019)?

Please include money from all jobs, net income from business, farm orrent, pensions, interest on savings or bonds,
dividends, social security income, unemployment benefits, Food Stamps, workers compensation or disability
benefits, child support, alimony, scholarships, fellowships, grants, inheritances and gifts, and any other money
income received by members of your household who are 15 years of age or older. ~f(qhidInst’)[6].1abel()*
ANumericOnly('BI_I’)"

1 dollars (1)

B2-B2
[Not required)

Which category represents the total combined pre-tax income of allmembers of your household (including you)
duringthe last 12 months ("f(MonthS’y* 2018 to July2019)?

Please include money from alljobs, net income from business, farm orrent, pensions, interest onsavings or bonds,
dividends, social security income, unemploymentbenefits, Food Stamps, workers compensation or disability
benefits, child support, alimony, scholarships, fellowships, grants, inheritances and gifts, and any other money
income received by members of your household who are 15 years of age orolder. *f(’qhidInst’)[5].label()*

Q Lessthan $10,000(1)

Q $10,000to $19,999(2)

Q $20,000 to $29,999 (3)

Q $30,000 to $39,999 (4)

Q $40,000 to $49,999(5)

Q $50,000 to $59,999 (6)

Q $60,000 to $74,999 (7)

Q $75,000 t0 $99,999 (8)

Q $100,000t0 $124,999 (9)
Q $125,000t0 $149,999 (10)
Q $150,000t0 $179.999 (11)
Q $175,000t0 $199,999 (12)
Q $200,0000rmore(13)



hidB1 -B1

[Hidden variable ¢ Open Text ¢ Numeric ¢ Notrequired * Lower l[imit=0* Lower limit type=GreaterOrEqual *
Upper limit=100000000 ¢ Upper limittype=SmallerOrEqual * Total Digits=9 * Columns=9)]

1 dollars (1)

B4-B4
[Not required]

Considerthe total combined pre-tax income ofallmembers of your household (including you) during the last 12
months (“M(MonthS’)* 2018 through July 2019) and consider your total combined pre-tax household income during
the previous 12 months (*f("MonthS’)* 2017 through July 2018) *f(’ghidInst’)[8].label()*

Comparedto the period “f("MonthS’)* 2017 to July 2018, yourtotal combined pre-tax household income during the
period M('MonthS')* 2018 to July 2019 was

O higherby 0% ormore (1)
Q lower by 0% ormore (2)

BS-BS

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=8 +
Columns=5 ¢ Decimal places=1]

In percentage terms, by approximately how much was your total pre-tax household income duringthelast 12
months Mf('B4’).value()=="1"? higher : 'lower’” than duringthe previous 12 months?f(’ghidlnst’)[9].label()*

My total pre-tax household income during the last 12 months was %
('B4’).value()=="1"? higher : 'lower by (1) (1
Bo6
[Not required)

You mentioned thatduring the last 12 months your total combined pre-tax income ofallmembers of'your household
(including you) was approximately $*AddComma2(fChidB1 _1’).toNumber())". Besides you"f('xQ38’).value() ==
"1’ ? ’and your spouse/partner’ : " did anyone else contribute to this income?"f(’ghidInst’)[5].1abel()*

Q Yes (1)
Q No(2)
Bé6a

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

Howmuchofthe”!f(’B1’).toBoolean() ?'approximately’: " $2AddComma2(fChidB1_1’).toNumber())" in total
household income was theincome of these other household members? (' qhidInst )[6].label()*

1 dollars (1)

Clintro -Clintro

The next few questions ask about various retirement accounts and pension plans youmay have.



Cl-C1
[Not required]
Please indicate whether you('’xQ38’).value()="1"? 'oryourspouse/partner : " currently are oreverhave been

enrolled in each ofthe following types of employer-sponsored retirementplans (exclude any self-owned/self-
managed Individual Retirement Accounts (IRAs) youmay have):

A Defined Benefit plan, also known as a traditional employer-provided Pension Plan, pays a fixed amount when
you retire, where the amounttypically depends on your final oraverage salary. f(’qhidInst’)[7].label()*

U Yes, I have such a planwith my current employer (1)

U Yes, my spouse/partner has such a plan with his/her current employer (2)

U Yes, I have such a planwith a previous employer (3)

U Yes, my spouse/partnerhas such a planwith a previous employer (4)

U Yes, I had sucha plan with a previous employerbutopted to receive thepensionasa lump sum cash-out/payout
when I left the firm (5)

U Yes, my spouse/partnerhadsucha planwith a previous employer but opted to receive the pensionas a lump sum
cash-out/payout when they left the firm (6)

U Yes, I had sucha plan and havealready been collecting monthly benefits from the plan(8)

U Yes, my spouse/partnerhadsucha planand has already been collecting monthly benefits from the plan (9)

Q No, IM('’xQ38").value()=="1"? "and my spouse/partner’ : "~ do not haveand haveneverhad this type of plan
with a current or formeremployer (7) [Keep position ® Exclusive]

C2-C2

[Not required]

A Defined Contribution plan (suchasa 401K 403(b) 457, orthrift savings plan) in which workers and/or their
employers make contributions (for example through payroll deductions) to an account in which money

accumulates, and that money can be paid outin a variety of ways depending on the plan or worker’s choice.
~M(qhidInst’)[7].label()®

U Yes, I have such a planwith my current employer (1)

U Yes, my spouse/partner has such a plan with his/her current employer (2)

U Yes, I have such aplanwith a previous employerand stillhaveanaccountmanaged by thatfirm (3)

U Yes, I had sucha plan with a previous employerbutI rolled it overto an IRA orhadthe money transferred to my
current employer’splan(4)

U Yes, my spouse/partnerhas such a planwith a previous employerand stillhas anaccountmanaged by that firm
)

U Yes, my spouse/partnerhadsucha planwith a previous employerbut rolled it overto anIRA orhad themoney
transferred to his/her current employer’s plan (6)

U Yes, I had sucha plan with a previous employer and have already been making withdrawals (8)

U Yes, my spouse/partnerhadsucha planwith a previous employer and has already been making withdrawals (9)
Q No, If('xQ38’).value()=="1"?'and my spouse/partner’ : "~ do not haveorno longerhavethis typeof plan with
an employer(7) [Keep position ® Exclusive]

Cla

[Not required)

How sure are you of your answer(s) to the previous question about whether youhave oreverhada Defined Benefit
plan with an employer? *(’ ghidInst’)[1].label()"



‘ IThavenoidea ‘ 1 ‘ ‘ 2 ‘ 3 ‘ 4 | 5 | 6 | Absolutely sure 7 | ‘
i (h1) (1) QD! | @I 6| 6 (h2) )

1) P ‘ O ‘ Q ‘ Q ‘ ©) ‘ o ‘ Q | Q | @) | o) | o | o ‘
Clb

[Not required)

And how sure are you of your answer(s) to the previous question about whether you have oreverhada Defined
Contributionplan (such asa 401K 403(b) 457, or thrift savings plan) with an employer? ~( ghidInst’)[1].label()*

I'havenoidea ‘ 1 ‘ ‘ 2 ‘ 3 ‘ 4 5 | 6 | Absolutely sure 7 | ‘
o (h1) ® @13 H G ] ©) (h2) (@)
oo Jofolofofofofol o oo
Clc
[Not required)

And how sure are you of your answer(s) to the previous question of whether your spouse/partner has oreverhad a
Defined Benefit plan with anemployer? ~f('ghidInst’)[1].label()"

I'havenoidea ‘ 1 ‘ 2 3 4 | 5 6 Absolutely sure 7 ‘
o (h1) ® @13 H G ] ©) (h2) (@)
oo Jofolofofofofol o ojo
Cld
[Not required)

And how sure are you of your answer(s) to the previous question of whether your spouse/partner has oreverhad a
Defined Contributionplan(suchasa401K 403(b) 457, orthrift savings plan) with anemployer?
AM(qhidInst’)[1].label()®

‘ I'havenoidea ‘ 1 ‘ 2 ‘ 3 ‘ 4 | 5 | 6 | Absolutely sure 7 | ‘
(h1) @ Q13| AH ]G] © (h2) @)
o Lo Jofolofofofofol o oo

Cnew - Cnew

[Not required)

Besides any employer-sponsored Defined Benefit or Defined Contribution plan youmay ormaynot have, do you
M(xQ38’).value()=="1"? 'oryourspouse/partner : " own any Individual Retirement Accounts orIRAs (suchas
traditional orRothIRA)? ~f(’'ghidInst’)[5].label()*

Q Yes (1)

QO No(2)

C1x2

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

What is the approximate monthly benefit amount you currently receive from your Defined Benefit plan?
~M(qhidInst’)[6].label()*



"NumericOnly(CurrentForm()+’_I’)"
) dollars (1)

C1x3

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

What do you think will be the approximate monthly benefit amountyou will receive when youstart collecting
benefits from your Defined Benefit plan? (' ghidInst’)[6].1label()*

ANumericOnly(CurrentForm()+’_1I’)"
1 dollars (1)

Cix4

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=4 +
Columns=3 ¢ Decimal places=1]

And atwhatage doyouexpect to startcollectingbenefits from your Defined Benefit plan? ~f(’ghidInst’)[6].label(*
"NumericOnly(CurrentForm()+’_I’)"
1 years (1)

C1x6

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

What is the approximate monthly benefit amount your spouse/partner currently receives from his/her Defined
Benefit plan? AM(ghidInst’)[6].1abel()*

ANumericOnly(CurrentForm()+’_I’)"
) dollars (1)

Cix7

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper
limit=100000000 * Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

What do you think will be the approximate monthly benefit amountyour spouse/partner will receive when your
spouse/partner starts collecting benefits from his/her Defined Benefit plan(s)? (' ghidInst’)[6].1abel()*

ANumericOnly(CurrentForm()+’_1’)"
1 dollars (1)

C1x8

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual ¢ Total Digits=4 ¢
Columns=3 ¢ Decimal places=1]

And at whatage doyouexpect your spouse/partner to startcollecting benefits from his/her Defined Benefit plan?
~M(qhidInst’)[6].label()®



"NumericOnly(CurrentForm()+’_I’)"
(1) years (1)

Cnewa - Cnewa
[Not required]

Which of the followingapplies to the Defined Contribution (401(k), 403(b), or457) plan that you have with a
current employer? *(qhidInst)[7].label()*

U Ihave madecontributions duringthepast 12 months (1)
U My employerhas made contributions (whether matching ornot) during the past 12 months (2)
U Thaveno idea whetherI have made contributions during the past 12 months (4)

U Ihaveno idea whethermy employer has made contributions (whether matching ornot) during the past 12
months (5)

Q No contributionshavebeenmade during the past 12months (3) [Keep position ® Exclusive]

Cnewb - Cnewb

[Not required)

Which of the followingapplies to the Defined Contribution (401(k), 403(b), or457) plan that your spouse/partner
has with a currentemployer. (' qhidInst’)[7].label()*

U My spouse/partner made contributions during the past 12 months (1)
U My spouse’s/partner’s employer has made contributions (whether matching ornot) during the past 12 months (2)
U Ihaveno idea whether my spouse/partner made contributions during the past 12 months (4)

U Thaveno idea whethermy spouse’s/partner’'s employer has made contributions (whether matching ornot) during
the past 12months (5)

Q No contributionshavebeenmade during the calendaryear (3) [Keep position ® Exclusive]

C2new- C2new

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

Consideringall the Defined Contribution plans you (' C2’).isect(set(2,5,6,9)).size()>0 ? "and your spouse/partner"
: "~may currently have with a currentor previous employer, approximately, whatis the total amount of money
currently in allthese account(s)? ~f(’ghidInst’)[6].1label()*

ANumericOnly("C2new_1’)"
1 dollars (1)

C2newa - C2newa
[Not required)

Which category represents the totalamount of money currently in your ~f('C2).isect(set(2,5,6,9)).size()>0 ? "and
your spouse’s/partner’s" : " Defined Contribution account(s)? (' ghidInst’)[5].label()*

Q Lessthan $25,000(1)

Q $25,000 to $50,000(2)
Q $50,000 to $100,000 (3)
Q $100,000to $150,000 (4)
Q $150,000t0 $250,000 (5)
Q $250,000to0 $500,000 (6)



Q $500,000t0 $1,000,000(7)
Q $1,000,000to0 $1,500,000 (8)
Q $1,500,000 0rmore (9)

Q Thavenoidea (10)

C2newx1 -C2new

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Considering next any self-owned retirementaccounts (IRAs), youf(’xQ38’).value()=="1’"? 'and your
spouse/partner’ : " may currently have, approximately, what is the totalamount of money currently in allthese
account(s)? f('ghidInst’)[6].label()*

"NumericOnly(CurrentForm()+’_I’)"
) dollars (1)

C2newx2
[Not required]

Which category represents the totalamount of money currently in your *("'xQ38’).value()=="1"? "and your
spouse’s/partner’s" : "~ IRA account(s)? (' ghidInst’)[5].1abelO)*

O Lessthan $25,000(1)

Q $25,000 to $50,000(2)

Q $50,000 to $100,000 (3)

Q $100,000t0 $150,000 (4)

Q $150,000t0 $250,000 (5)

Q $250,000to0 $500,000 (6)

Q $500,000t0 $1,000,000(7)
Q $1,000,000to $1,500,000 (8)
Q $1,500,000 0rmore (9)

Q T'havenoidea (10)

C3sl

[Not required)

Overthe past 12 months have you (' C2").isect(set(2,5,6,9)).size() >0 ? "and your spouse/partner" : " started
puttingmoney forthe first timeinto your first Defined Contribution plan (401(k),403(b),457)?

~M(qhidInst’)[5].label()®
Q Yes (1)

QO No(2)

C3s2

[Not required)

Overthe past 12months have you('C2').isect(set(2,5,6,9)).size() >0 ? "and your spouse/partner” : "~ added any
money to your Defined Contribution plan(s)? ~f(’qhidInst’)[5].label()*

Q Yes (1)
Q No(2)



C3s3
[Not required]

How does this compare to the year before? Did you (' C2’).isect(set(2,5,6,9)).size() >0 ? "and your spouse/partner”
: "~add more, less orthe same amount this yearto your Defined Contribution plan(s) thanin the yearbefore?
~M(qhidInst’)[5].label()®

Q Putin more this year (1)
Q Putin less this year(2)
Q Putin the same (3)

C3s4
[Not required]

Overthe past 12 months have you (' C2’).isect(set(2,5,6,9)).size() >0 ? "and your spouse/partner" : " withdrawn
some money from your Defined Contribution plan(s)? ~f('qhidInst’)[5].label()*

Q Yes (1)
Q No(2)

C3s5
[Not required]

How does this compare to the year before? Did you (' C2’).isect(set(2,5,6,9)).size() >0 ? "and your spouse/partner”

: "~ withdraw more, less or the same amount this year from your Defined Contribution plan(s) thanin the year
before? “(’qhidInst’)[5].label()*

Q Withdrew more this year (1)
Q Withdrew less this year (2)
QO Withdrew the same(3)

C3s6
[Not required]

Comparedto 12 months ago haveyouf('C2’).isect(set(2,5,6,9)).size()>0 ? "and your spouse/partner" : " moved
the savings in your Defined Contribution plan(s) (401(k),403(b),457) into less risky investments (for instance, from
stocks to bonds) orinto more risky investments (for instance from bonds to stocks)? “f(’qhidInst’)[5].label()*

Q Morerisky (1)
Q Lessrisky (2)
Q Equally risky (3)

C3-C3

[Hidden variable ¢ Notrequired * Read-only)

During the past 12 months haveyou *M('C2").isect(set(2,5,6,9)).size() >0 ? "and your spouse/partner : ...
~M(qhidInst’)[24].label()*

Yes | No
®» 1@
Started putting money for the first time intoa Defined Contribution plan (401(k),403(b),457)? o) o
M
Increased thetotalamountof money youput into your Defined Contribution plan(s) (401(k), 0 0O
403(b),457)?7(2)
Reduced thetotalamountof money you put into your Defined Contribution plan(s) (401 (k), o) o
403(b),457) (otherthan for hitting the maximum annual contribution)? (3)



Yes No
(ONNC)
Stoppedputtingmoney intoa Defined Contribution plan(401(k),403(b),457) (other than for o) o
hitting the maximum annual contribution)? (4)
Withdrawnmoney from a Defined Contribution plan(s) (401 (k),403(b),457)? (5) Q @)
Moved the savings in your Defined Contribution plan(s) (401 (k),403(b),457) into less risky o) o
investments (for instance, from stocks to bonds)? (6)
Moved the savings in your Defined Contribution plan(s) (401(k),403(b),457) into morerisky o) o
investments (for instance, from bonds to stocks)? (7)
C3nsl
[Not required]

Overthe past 12 months have you('xQ38).isect(set(1)).size() >0 ? "and your spouse/partner” : " opened your
first IRA? “M(ghidInst’)[5].label()"

Q Yes (1)

Q No(2)
C3ns2

[Not required]

Overthe past 12 months have youf('’xQ38).isect(set(1)).size() >0 ? "and your spouse/partner” : "~ added any
money to your IRA(s)? “f(’ghidInst’)[5].label()*

Q Yes (1)

QO No(2)
C3ns4

[Not required]

Overthe past 12months have youf('xQ38’).isect(set(1)).size() >0 ? "and your spouse/partner" : " withdrawn
some money from your IRA(s)? (’qhidInst’)[5].label()"

Q Yes (1)

Q No(2)
C3ns6

[Not required]

Comparedto 12 months ago haveyouf(’xQ38").isect(set(1)).size()>0 ? "and your spouse/partner" : "~ moved the
savings in your IRA(s) into less risky investments (for instance, from stocks tobonds) or into more risky
investments (for instance from bonds to stocks)? ~f(qhidInst’)[5].label()®

Q Morerisky (1)

Q Lessrisky (2)

Q Equally risky (3)

C3new2 - C3new2

[Hidden variable ¢ Notrequired ¢ Read-only)

During the past 12 months haveyou “(’xQ38’).isect(set(1)).size()>0 ? "or your spouse/partner” : ...
AM(qhidInst’)[24].label()*




=

es N
(

Opened a newIRA? (1)
Added money toanexisting[RA?(2)
Withdrawnmoney from an IRA? (3)

Moved the savings in your IRA(s) into less risky investments (for instance, from stocks to
bonds)? (4)

Moved the savings in your IRA(s) into more risky investments (for instance, from bonds to
stocks)? (5)

O | O[O0
O | O |00

C4-C4
[Not required)

You indicated thatyou"f('C2’).isect(set(2,5,6,9)).size() >0 ? "and your spouse/partner” : " increased the amount of
money youputinto your Defined Contribution account(s) (401(k),403(b),457). Yourtotal contribution increased

because... "f('ghidInst’)[7].label )"

U You increased the proportion of your AM('C2").isect(set(2,5,6,9)).size()>0 ? "or yourspouse's/partner’s" : "
earings going into that account(s) (1)

U Your M('C2’).isect(set(2,5,6,9)).size() >0 ? "or your spouse’s/partner’s" : " earnings went up (2)

C5-C5

[Not required)

You indicated thatyou M('C2).isect(set(2,5,6,9)).size() >0 ? "and your spouse/partner” : " reducedthe amountof
money youputinto your Defined Contribution account(s) (401(k),403(b),457). Yourtotal contribution decreased
because......(qhidInst’)[7].label)*

U You decreased theproportion of your Mf('C2’).isect(set(2,5,6,9)).size() >0 ? "oryour spouse’s/partner’s" : "
earings going into that account(s) (1)

U Your (' C2').isect(set(2,5,6,9)).size()>0 ? "or your spouse’s/partner’s" : " earnings went down (2)

CSa

[Not required]

Does youremployer offera matching contribution to your Defined Contribution a ccount? M’ ghidInst’)[5].1abel()*
Q Yes (1)

Q No(2)

Q Ihavenoidea (3)

CSax1

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Columns=3 ¢ Decimal places=1]

What is the maximum matching rate your employer offers? f(’ghid Inst')[6].label()*
“NumericOnly(CurrentForm()+’_I’)"
) % of my earnings (1)

C5ax2
[Not required]
Do you actually receive the maximum matching rate?f(’qhidInst')[5].label()*



Q Yes (1)
Q No(2)
Q I'havenoidea (3)

C5ax3

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual * Upper limit=100*
Upper limit type=SmallerOrEqual * Total Digits=4 ¢ Decimalplaces=1]

What proportion of yourannual earnings did you contribute to your Defined Contribution (401 (k),403(b),457)
account(s) over the past 12 months (*f("MonthS’)* 2018 to July 2019) (please exclude any employer matching
contributions)

"NumericOnly(CurrentForm()+’_I’)"
(9] % (1)

C5ax3dk
U IThavenoidea (1)

C5ax4

[Open Text ® Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=4 * Decimalplaces=1]

And what proportion of your annual earnings did you contribute to your Defined Contribution (401(k),403(b),457)
account(s) over the prior 12 months (“f(MonthS’)* 2017 to July 2018)? (againplease exclude any employer
matching contributions)

“NumericOnly(CurrentForm()+’_I’)"
(1) % (1)

CSax4dk
U Thavenoidea (1)

C5b
[Not required]

Does your spouse’s/partner’'s employer offer a matching contributionto your spouse’s/partner’s Defined Contribution
account? (’ ghidInst’)[5].label()"

Q Yes (1)

Q No(2)

Q Ihavenoidea (3)
C5Sbx1

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Columns=3 ¢ Decimal places=I]

What is the maximum matching ratethis employer offers? ~f(’ ghidInst’)[6].1abel()*
“NumericOnly(CurrentForm()+’_I’)"

1) % of my spouse’s/partner’s earnings (1)




C5bx2
[Not required]
Does your spouse/partner actually receive the maximum matching rate? ~f(’ ghidInst’)[5].label()*

Q Yes (1)
Q No(2)
Q I'havenoidea (3)

CSbx3

[Open Text ® Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Decimalplaces=1]

What proportion of your spouse’s/partner’s annual earnings did he/she contribute to a Defined Contribution (401 (k),
403(b),457)account(s) over the past 12 months ("f('MonthS’)* 2018 to July 2019) (please exclude any employer
matching contributions)

ANumericOnly(CurrentForm()+’_1I’)"
(1) % (1)

C5bx3dk
U Ihavenoidea (1)

CSbx4

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=4 * Decimalplaces=1]

And what proportion of your spouse’s/partner’s annual earnings did he/she contribute to a Defined Contribution
(401(k),403(b),457)account(s) over theprior 12 months ("f(MonthS’)* 2017 to July 2018)? (again please exclude
any employer matching contributions)

ANumericOnly(CurrentForm()+’_I’)"
48] % (1)

C5bx4dk
U Thavenoidea (1)

Co6-Co6

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Approximately, whatwas your M('C2").isect(set(2,5,6,9)).size() >0 ? "and your spouse’s/partner’s": " total
combined annual withdrawal from your Defined Contribution (401(k), 403(b),457) account(s) over thepast 12
months (“M(MonthS’)* 2018 to July 2019)? ~f('ghidInst’)[6].label()*

“NumericOnly(CurrentForm()+’_I’)"
) dollars (1)

Cé6dk
U IThavenoidea (1)



C7-C7

[Open Text * Numeric ¢ Not required ® Lower limit=0 * Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

MCC3)[5T=="1"?":"" And what was your "(’C2’).isect(set(2,5,6,9)).size() >0 ? "and your spouse’s/partner’s": "/
totalannual withdrawal from your Defined Contribution (401(k),403(b),457)account(s) over theprior 12 months
(“M(MonthS’y*2017to July 2018)? “( ghidInst)[6].label()*
ANumericOnly(CurrentForm()+’_I’)"

1 dollars (1)

C7dk
U Thavenoidea (1)

C8-C8
[Not required]

In totaldid you ~M('xQ38").isect(set(1)).size() >0 ? "and your spouse/partner” : "~ add to, withdraw orkeep
unchangedthe amountof money in your IRA(s) overthepast 12 months (*f("MonthS’)* 2018 to July 2019)? (Please
exclude any change in the value of funds such as stocks and bonds themselves) f('qhidInst’)[5 ].label()*

Q Added to them (1)
Q Withdrew from them (2)
Q Kept them unchanged (3)

C8a-C8a
[Not required)

In addition to any new contributions or withdrawals you ('xQ38’).isect(set(1)).size() >0 ? "or your spouse/partner”
: "~may have made duringthe pastyear, the value for the funds already in your IRA account(s) may also have
changed duringthe pastyear due to financial market fluctuations. Considering together allnew contributions,

withdrawals and changes in values, do youthink the totalamountof money in your M('xQ38).isect(set(1)).size() >0
? "and your spouse’s/partner’s" : " IR A accounts has increased or decreased over the last 12 months?
M(qhidInst’)[8].label()"

Q increasedby 0% ormore (1)
Q decreasedby 0% ormore (2)

C8apart2 - C8apart2

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=8 ¢
Columns=5* Decimal places=1I]
In percentage terms, roughly by how much did thetotal amount of money in your “f(’xQ3&).isect(set(1)).size() >0 ?

"and your spouse’s/partner’s” : " IRA accounts”f('C8a’).value()=="1"?'increase’ : 'decrease’” overthe last 12
months?M{(’qhidInst’)[9].1label()*

(9] % (1)

C9-C9
[Not required)
AMCC37)[1].get)=="1"? f(C1 1hidden’)[2].label() : f{(C11hidden’)[3].label()* *f(qhidInst’)[24].label()*



Very
important Somewhat Notatall Doesnot
(1) important (2) | important (3) | apply (4)
Change in job oremployment(1) O Q Q Q
Changeinsalary (2) @) @) @) O
Change in otherincome (3) @) O @) O
To increase savings for retirement (4) Q Q Q O
Nowis a good time to invest (5) Q O Q Q
Tobeableto leavea bequest(e.g. to children or
organization) (6) Q O O >
To makeup fora declinein the value of my
house(s), stocks and other investments (7) O O O O
Had a greaterneedto savebecause of a change in
my household (marriage, divorce, separation, birth Q QO @) O
of child, child left home) (8)
Had a greaterability to save becauseof a change in
my household (marriage, divorce, separation, birth @) Q O O
of child, child left home) (9)
To pay for potential future medical expenses (10) ®) O O O
To pay for future longterm care expenses (11) Q Q Q O
C10hidden
[Hidden variable]

Q Please indicate how importanteach of the following was for thereduction in the amount of money you
M(CC2).isect(set(2,5,6,9)).size() >0 ? "oryourspouse/partner” : " put into your Defined Contribution (401 (k),
403(b),457)account(s). (1)

Q Please indicate how importanteach of the following was for you f('C2’).isect(set(2,5,6,9)).size()>0 ? "oryour
spouse/partner" : ’ to stop putting money into your Defined Contribution (401 (k),403(b),457)account(s). (2)

Q Please indicate how importanteach of the following was for you ('C2’).isect(set(2,5,6,9)).size() >0 ? "oryour
spouse/partner" : ’ to withdraw money from your Defined Contribution (40 1(k), 403(b),457) account(s). (3)

C10-C10
[Not required)
A(CC10hidden’ Y ~(’ghidInst’)[24].1abel()*
Very
important Somewhat Notatall Doesnot
(1) important (2) | important (3) | apply (4)
Change in job oremployment (1) Q ) ) ©)
Changeinsalary(2) @) O O O
Change in otherincome (3) @) @) O O
Involuntaryjob loss (4) @) O O O
Voluntarily stopped working (5) Q ) ) O
Needed to pay forspecial purchases, suchas
purchase ordownpaymenton a home, land or Q O ) )
otherreal estate, vehicle or vacation (6)
Wantedto give away or lend to family, friends or
others (7) O O O O
Had a change in my household (marriage, divorce,
separation, birth of child, child left home) (8) O O O O




Very
important Somewhat Notatall Doesnot
(1) important (2) | important (3) | apply (4)
Needed moneyto paybillsand/orpay down debts 0 o) o) o)
(€)
Needed money to covernew/additional health
expenses (10) Q Q Q Q
To pay forgeneral livingexpenses (11) O O O O
I alreadyhave saved enough forretirement (12) O O O O
Cl1-C11
[Not required)

You indicated earlier thatyou contributed (' C5ax3’)[1].get()"% of yourannual earnings to your Defined
Contribution (401(k),403(b),457) accountoverthe past 12 months.

Now, thinkingaboutthe next 12 months, do you expectto increase, decrease, or leave unchanged the proportion of
yourannual earnings that you contribute to your Defined Contribution (401 (k), 403(b),457) account?
~M(qhidInst’)[5].label()®

Q Expect to increase the proportion of my earnings that I contribute(1)
Q Expect to decrease the proportion of my earnings that I contribute(2)
Q Expect to leave the proportion of my earnings thatI contribute unchanged (3)

Cl1lnewa-Cllnewa

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper limit=100 ¢
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Columns=3 ¢ Decimal places=I]

By howmuchdo you expect toincreasethe proportion of your annual earnings that you contribute to this account
overthe next 12 months?

I expect to increase my contribution from ~f(’C5ax3’)[1].get()"% of my annual earnings to...
M(qhidInst’)[6].Jabel()®

ANumericOnly(CurrentForm()+’_I’)"

(1) % of my annual earnings (1)

Cl1lnewa2 -Cl1newa2

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper limit=100 ¢
Upper limit type=SmallerOrEqual * Total Digits=4 ¢ Columns=3 * Decimal places=I]

What proportion of yourannual earnings do youexpect to contributeto your Defined Contribution (401 (k),403(b),
457)account overthe next 12 months? Af(’ghidInst’)[6].1abel()*

ANumericOnly(CurrentForm()+’_1’)"
08 % of my earnings (1)

Cl1newb-Cl1newb

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Columns=3 ¢ Decimal places=I]

By howmuchdo you expect to decreasethe proportion of your annual earnings that you contribute to this account
overthenext12 months?




I expect to decrease my contribution from ~f('C5ax3’)[1].get()"% of my annual earnings to...
~M(qhidInst’)[6].label()®

ANumericOnly("ClInewb 1')"

1 % of my annual earnings (1)

Cllax1

[Not required]

You indicated earlier thatyour spouse/partner contributed ~f("C5bx3’)[1].get()"% oftheir annual earnings to their
Defined Contribution (401(k),403(b),457) account over thepast 12 months.

Now, thinkingaboutthe next 12 months, does your spouse/partner expect to increase, decrease, or leaveunchanged

the proportion of your spouse’s/partner’s annual earnings that he/she contributes to a Defined Contribution (401 (k),
403(b),457)account? (ghidInst’)[5].label()*

Q Expect to increase the proportion of the spouse’s/partner’s earnings that he/she contributes (1)
Q Expect to decrease the proportion of the spouse’s/partner’s earnings that he/she contributes (2)
Q Expect to leave the proportion of the spouse’s/partner’s earnings that he/she contributes unchanged (3)

Cl1ax2

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Columns=3 * Decimal places=I

By howmuchdo you and your spouse/partner expect to increase the proportion of your spouse’s/partner’s annual
eamings thathe/she contributes to this account over the next 12 months?

My spouse/partner expects to increase their contribution from f("C5bx3’)[1].get()"% oftheirannual earnings to...
~M(qhidInst’)[6].]abel()®

ANumericOnly(CurrentForm()+’_1’)"

) % of spouse’s/partner’s annual earnings (1)

Cl1ax3

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Columns=3 ¢ Decimal places=1]

What proportion of your spouse’s/partner’s annual earnings do you expectthat he/she will contributeto the Defined
Contribution (401(k), 403(b),457)account overthenext 12 months? *f(’ghidInst’)[6].label()*

“NumericOnly(CurrentForm()+’_I’)"

) % of spouse’s/partner’s earnings (1)

Cl1lax4

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Columns=3 ¢ Decimal places=1]

By howmuchdo you and your spouse/partner expect to decrease the proportion of your spouse’s/partner’s annual
eamings thathe/she contributes to this account over the next 12 months?



My spouse/partner expects to decrease their contribution from (' C5bx3")[1].get()*% oftheirannual earnings to...
~M(qhidInst’)[6].]abel()®

"NumericOnly(CurrentForm()+’_I’)"

) % of spouse’s/partner’s annual earnings (1)

C12-C12
[Not required]

In addition to any new contributions or withdrawals you (' C2").isect(set(2,5,6,9)).size() >0 ? "or your
spouse/partner” : " mayhave made during the pastyear, thevalue for the funds already in your Defined
Contribution (401(k),403(b),457) account(s) (such as stocks, bonds) may also have changed during thepast year.
Considering together allnew contributions, withdrawals and changes in values, do youthink the totalamount of
money in your M('C2’).isect(set(2,5,6,9)).size()>0 ? "and your spouse’s/partner’s" : ”* Defined Contribution
accounts has increased or decreased over the last 1 2 months? ~f(’ghidInst’)[5].label()*

Q increased by 0% ormore (1)
Q decreasedby 0% ormore (2)

C13-C13

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=8 +
Columns=5 ¢ Decimal places=1]

In percentage terms, roughly by how much did thetotalamountof money in your *f(C2’).isect(set(2,5,6,9)).size() >
0 ? "and yourspouse's/partner’s" : " Defined Contribution accounts “f(C12’).value()=="1’ ? ’increase’ : ’"decrease”
overthe last 12 months?f(’qhidInst’)[9].label()*

(1) % (1)

C13dk
U IThavenoidea (1)

C15-C15
[Not required)

Considerthe currentvalue of your M('C2’).isect(set(2,5,6,9)).size() >0 ? "and your spouse’s/partner’s" : ”* Defined
Contribution (401(k),403(b), 457) account(s). If you were to notmake any contributions to or withdrawals from
youraccount(s), what do youexpect will happen to the value of these account(s) overthenext 12

months? M{(’qhidInst’)[5].1abel()*

Q increase by 0%ormore (1)
Q decrease by 0% ormore (2)

C15b- C15b
[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=8 +
Columns=5 ¢ Decimal places=1]

By about what percent do youexpectthe value of your Defined Contribution (401 (k),403(b),457) account(s) to
MCC15%).value()=="1"?’increase’ : 'decrease\? Please give yourbest guess. *f('qhidInst’)[9].label()"



Overthenext 12 months, I expect thevalueof myaccounts to %
M(CC15%).value()=="1" ?’increase’ : 'decrease~ by (1) (1

C16-C16

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper limit=100 ¢
Upper limit type=SmallerOrEqual * Total Digits=3]

[fyou were to not make any contributions to or withdrawals from your Defined Contribution (401 (k),403(b),457)
account(s), what doyouthink s the percent chance that over thenext 12 months the value of your retirement
account(s) will... f(qhidInst’)[4].label()*

ANumericOnly("C16_1')"NumericOnly("C16_2’)""NumericOnly('C16_3’) "NumericOnly(C16_4)"
“NumericOnly("C16_5")""NumericOnly('C16_6)"

M(CCl6version’).value()=="1"? f{(C16label')[1].1abel() : percent
"decrease by 10% ormore™ (1) chance (1)
AM(CCl6version’).value()="1"? f(C16label’)[2].1abel() : percent
"decrease by 5%to 10% " (2) chance (2)
M(CCl6version’).value()=="1"? f(C16label’)[3].1abel() : percent
'decrease by 0%to 5% (3) chance (3)
M(CCl6version’).value()=="1"? f{(C16label’)[4].1abel() : percent
‘increase by 0% to 5%’ (4) chance (4)
AM(CCl6version’).value()="1"? f(C16label’)[5].1abel() : percent
‘increase by 5% to 10% " (5) chance (5)
M(CCl6version’).value()=="1"? f{(C16label’)[6].1abel() : percent
‘increase by 10% ormore’(6) chance (6)
C17-C17

[Open Text ® Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper limit=100 *
Upper limit type=SmallerOrEqual * Total Digits=3]

Approximately, whatproportion of themoney in your M('C2’).isect(set(2,5,6,9)).size() >0 ? "and your
spouse’s/partner’s combined" : " Defined Contribution (401(k),403(b),457) account(s) is invested in:
~M(qhidInst’)[4].Jabel()®

ANumericOnly("C17 1) NumericOnly("C17_2’)"NumericOnly('C17_3’)* "NumericOnly(C17 4)"
ANumericOnly('C17_5)"

Treasury Bills/CDs/Money markets’Money market Mutual Funds %
1) ¢y
Treasury Inflation-Protected Securities (TIPS)/ TIPS Index Funds %
@) 2)
Bonds/Bond mutual funds (including US government bonds, %
municipal bonds, corporate bonds) (3) 3)
Stocks/Stock mutual funds (4) %

4)
RealEstate Investment Trusts (REITs)/REIT Index Funds (5) %

)

C17dk

U IThavenoidea (1)



D2- D2
[Not required]

Our next questions ask aboutother savings and investments you may have (suchas checkingand savings accounts,
CDs, stocks, bonds, mutual funds, Treasury bonds), excludingthose in a retirement account. We first wantto know
whether youmadeany contributions and/or withdrawals to your savings and investments over thelast year. Please
do not consider changes in the market value ofthe funds in these accounts, only consider the amounts of new money
you added and theamounts you took out.

Would you saythat overthe last 12 months you f(xQ38’).isect(set(1)).size()>0 ? "and your spouse/partner" : "
have added more to your savings and investments than you withdrew, or thatyou have withdrawn more from your

investments and savings than youhave added to them, or neither? f(’ghidInst’)[5].label()*

Q Added more in total (1)

Q Withdrew more in total (2)

O Added as muchas withdrew (3)

O Neitheradded nor withdrew any money (5)

Q IM(xQ38").isect(set(1)).size()>0 ? "and my spouse/partner” : " do not have any savings and investments
(excludingany in a retirement account) (4)

D4 - D4

[Open Text * Numeric ¢ Not required ® Lower limit=0 * Lower limit type=GreaterOrEqual * Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

During the last 12 months, about how much moredid you"f(xQ38’).value()=="1’? 'and your spouse/partner : "
withdraw from these savings and investments than you added to them?*f(’ghidInst’)[6].label()*

ANumericOnly(’D4_1')"
1 dollars (1)

D5- D5
[Not required)

Please indicate how importanteach of the following was in your decision to withdraw some of your investments or
savings. M( qhidInst’)[24].label()*

Very
important Somewhat Notatall Doesnot
(1) important (2) | important (3) | apply (4)

Change in job oremployment (1) QO O O O
Changeinsalary(2) ©) O O O
Change in otherincome (3) O O O O
Involuntaryjob loss (4) O O O O
Voluntarily stopped working (5) QO O O O
Needed to pay forspecial purchases, suchas
purchase ordownpaymenton a home, land or O Q Q Q
otherreal estate, vehicle or vacation (6)
Wantedto give away orlend to family, friends or
others (7) ¢ Y Y Q Q Q Q
Had a change in my household (marriage, divorce,
separation, l%inh ofychild, child l(eft horr%e) 8) O O O O
I(\;e;eded money to pay bills and/or pay downdebts 0 0O 0O 0O



Very

important Somewhat Notatall Doesnot
(1) important (2) | important (3) | apply (4)
Needed moneyto cover new/additional health
expenses (10) O O O O
Topay forgeneral livingexpenses (11) @) @) @) @)
Felt less or no need to increasemy savings (12) O O O O

D9 - D9

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper

limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

During the last 12 months, about how much moredid youf('’xQ38’).value()="1’? 'and your spouse/partner’ : ’"
add to yourinvestments or savings than you withdrew from them? ~f(’ghidInst’)[6].label()*

ANumericOnly(’D9_1')"

1 dollars (1)

D10-D10
[Not required]

Please indicate how importanteach of the following was in your decision to add more to your investments or

savings. M( qhidInst’)[24].label()*

Very
important

(D)

Somewhat
important (2)

Notatall
important (3)

Doesnot
apply (4)

Change in job oremployment(1)

Change insalary (2)

Change in otherincome (3)

To increase savings for retirement (4)

Now is a good time to invest (5)

To build a cushion in case of future job loss (6)

To makea large purchase orto pay for future
education expenses of children/family/self (7)

I expect it will be more difficult to borrow money in
the future(8)

Tobeableto leavea bequest(e.g. to children or
organization) (9)

Tomakeup fora declinein the value of my
house(s), stocks or other investments (10)

Had a greaterneedto savebecause of a change in
my household (marriage, divorce, separation, birth
of child, child left home) (11)

O |O|0O]|0O|0O[C0CCC|0

©C |O|0O]|0O|0O[C0CC0|0

©C |O|0O]|0O|0O[C0[CC0|0

©C |O|0O]|0O|0O|[C0[CCC|0

Had a greaterability to save becauseof a change in
my household (marriage, divorce, separation, birth
of child, child left home) (12)

®

®

o

@)

To pay forpotential future medical expenses (13)

To pay for future longterm care expenses (14)

D11new-D11new
[Not required)

O|0

O|0

O|0

O|0




Do you expect that over the next 12 months you “f('xQ38).isect(set(1)).size() >0 ? "and your spouse/partner” : "
will withdraw more from your savings and investments accounts (again excluding those in retirementaccounts) than

you will add to them in new money, OR that youwilladd moreto savings accounts and investments than you will
withdraw? (' ghidInst’)[5].label()®

Q Expect to withdraw more thanadd (1)

Q Expect to add more than withdraw (2)

Q Expect to add or withdraw about the same (3)
Q Expect to neitheradd or withdraw anything (4)

D11new2 -D11new2
[Not required)

Do you*M('xQ38).value()="1’?’and your spouse/partner’ : ”" expectto start putting money into any savings and
investments accounts over thenext 12 months (again excluding those in retirementaccounts)?
~M(qhidInst’)[5].Jabel()®

Q Yes (1)
O No )
D12new-D12new

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 * Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Overthe next 12 months, about how muchmore do you ('xQ38’).value()=="1" ? ’and your spouse/partner’ : "
expect to withdraw from your savingand investments than you expect toadd to them? ~f(’ghidInst’)[9].label()*

"NumericOnly(’DI12new_1 )"
) dollars (1)

D13new-D13new

[Open Text * Numeric ¢ Not required ® Lower limit=0 * Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 * Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

Overthe next 12 months, about how much more do you ('xQ38’).value()=="1"? ’and your spouse/partner’ : ”"
expect to add to your savings and investments than you expect to withdraw? ~f( qhidInst')[9].1abel()*

ANumericOnly(’"DI13new 1 )"
1 dollars (1)

D13new2 -D13new2

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper
limit=100000000 * Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

Overthe next 12 months, how muchdo you”f('’xQ38’).value()=="1" ? "and your spouse/partner’ : " expect to
contribute to your savings and investments? (' ghidInst’)[9].label()*

~NumericOnly(CurrentForm()+’_1’)"
(1) dollars (1)




D14 -D14
[Not required]

In addition toany new contributions or withdrawals youf('’xQ38’).value()=="1"? 'or your spouse/partner : " may
have made during the pastyear, themarketvalue of your savings and investments (such as checking and savings
accounts, CDs, stocks, bonds, mutual funds, Treasury bonds) may also have changed during the pastyear.
Considering togetherallnew contributions, withdrawals and changes in values, do youthink the total value of your
savings and investments (excluding funds in retirement accounts) has increased or decreased overthepast 12

months? (' ghidInst’)[5].label()*

Q increased by 0% ormore (1)
Q decreasedby 0% ormore (2)

D15-D15

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=8 +
Columns=5 ¢ Decimal places=1I]

In percentage terms, roughly by how much did thetotal value of your savings and investment *f('D14’).value() ==
"1’ ? ’increase’ : "decrease” overthe past 12 months? (' qhidInst')[9].label()*

[tM(D14’).value()="1"? ’increased’ : "decreased by (1) % (1)

D15dk
U Thavenoidea (1)

D16a
[Not required]

How would you describethe way you and your spouse/partner manage your retirement, saving and investment
accounts, and makesavingandinvestmentdecisions? “f(’qhidInst’)[5].label()*

Q We manage ourretirement, savingand investment accounts separately (1)
QO We manage ourretirement, saving and investment accounts jointly (2)
O We manage some retirement, saving and investmentaccounts jointly, some separately (3)

D16a2

[Not required]

M(qhidInst’)[5].label()®

QO We make mostsavings and investment decisions separately (4)

O We make mostsavings and investment decisions jointly (5)
O Wemake somesavings and investment decisions jointly, some separately (6)

D16new-D16new

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Approximately whatis the total current value of your *f('xQ38’).value()="1"? "and your spouse’s/partner’s" : "
savings and investments (such as checkingand savings accounts, CDs, stocks, bonds, mutual funds, Treasury

bonds), excluding those in retirement accounts? “f(’ghidInst’)[6].label()*



ANumericOnly(’D16new 1)"
) dollars (1)

D16newa -D16newa
[Not required]

Which category represents the total current value of your AM('xQ38’).value()=="1" ? "and your spouse’s/partner’s" :
"/ savings and investments (suchas checking and savings accounts, CDs, stocks, bonds, mutual funds, Treasury
bonds), excluding thosein retirement accounts ? “f(’qhidInst’)[5].1abel)*

Q Lessthan $500 (1)

Q $500t0 $1,000(2)

Q $1,000t0$5,000 (3)

O $5,0000$10,000(4)

Q $10,000 to $25,000(5)
Q $25,000 to $50,000(6)
Q $50,000 to $100,000 (7)
Q $100,000to0 $250,000 (8)
Q $250,0000rmore(9)

Q TI'havenoidea (10)

D17-D17
[Not required)

Considerthe currentvalueof your M('xQ38’).isect(set(1)).size() >0 ? "and your spouse’s/partner’s" : ” savingand
investment accounts (excluding funds in retirement accounts). [f you were to notmake any contributions or

withdrawals from your account(s), whatdo youexpect willhappento the value ofyouraccount(s) overthenext 12
months? M’ qhidInst’)[5].label()*

Q increase by 0%ormore (1)
Q decrease by 0% ormore (2)

D17b-D17b

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=8 +
Columns=5* Decimal places=1I]

By about what percent do youexpectthe value of youraccount(s) to “f('D17’).value()="1"? ’increase’ :
"decrease’”? Please give yourbestguess. “f(’ghidInst’)[9].label()"

Overthenext 12 months, I expect thevalueof myaccounts to %
AM(D17).value()="1"?'increase’ : 'decrease’ by (1) (1

D18version-D18version
[Hidden variable]
selects which version respondent will see -- hidden in live survey

Q Version 1 (1)
Q Version 2 (2)



D18-D18

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual * Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=3]

Overthe next 12 months, if youwere to not make any contributions or withdrawals from your account(s), whatdo
you think is the percentchancethatthe value of your “f(’xQ38).isect(set(1)).size() >0 ? "and your

spouse’s/partner’s" : " saving and investment accounts (ex cluding funds in retirementaccounts) will...
AM(qhidInst’)[4].label()®

ANumericOnly(’D18_1)""NumericOnly(DI18 2)" "NumericOnly('D18_3’)" "NumericOnly(’D18 4)"
ANumericOnly(’D18_5)" "NumericOnly('DI18_6 )"

AM(CDI18version’).value()=="1"? f('D18label’)[1].1abel() : percent
"decrease by 10% ormore’” (1) chance (1)
M(DI18version’).value()=="1"? f('D18label')[2].label(): percent
'decrease by 5%to 10%" (2) chance (2)
AM(CDI18version’).value()=="1"? f('D18label’)[3].1abel() : percent
"decrease by 0%to 5%’ (3) chance (3)
AM(CDI18version’).value()=="1"? f(’D18label’)[4].1abel() : percent
‘increase by 0% to 5%’ (4) chance (4)
M(DI18version’).value()=="1"? f('D18label')[5].Iabel(): percent
‘increase by 5% to 10%" (5) chance (5)
AM(CDI18version’).value()=="1"? f('D18label’)[6].1abel() : percent
‘increase by 10% ormore’(6) chance (6)
D19-D19

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=3]

What proportion of the money in your M('xQ38).isect(set(1)).size() >0 ? "and your spouse’s/partner’s" : "~ saving
and investmentaccounts (excluding funds in retirement accounts) is invested in: M ghidInst’)[4 ].label()"

ANumericOnly(’D19_1)""NumericOnly('DI19 2 )" "NumericOnly(’'D19 3’)* “"NumericOnly(’'D19 _4)"
ANumericOnly(’D19_5)""NumericOnly('D19_6)"

Checking/savingaccounts (1) %

(1)
Treasury Bills/CDs/Money markets’Money market Mutual Funds %
) 2)
Treasury Inflation-Protected Securities (TIPS)/TIPS Index Funds %
3) 3)
Bonds/Bond mutual funds (including US government bonds, %
municipal bonds, corporate bonds) (4) 4)
Stocks/Stock mutual funds (5) %

5)
RealEstate Investment Trusts (REITs)/REIT Index Funds (6) %

(6)

D19dk

U IThavenoidea (1)

D16b
[Not required)



How would you rate your knowledge aboutyour M(’xQ38").value()="1"? "own" : ’/ retirementandsavingand
investment account(s)? (' ghidInst’)[5].label()*

Q Very poor(1)

Q Fair/Below Average (2)

Q Good/Average (3)

Q Very good/Above Average (4)
Q Excellent (5)

D16c
[Not required]

And how would you rate your knowledge about your spouse’s/partner’s retirement and sa ving and investment
account(s)? “f(’'ghidInst’)[5].label()*

Q Very poor(1)

Q Fair/Below Average (2)

Q Good/Average (3)

Q Very good/Above Average (4)
Q Excellent (5)

F1-F1

[Not required]

The next few questions ask abouthome(s) youmay have.

Do you~(’xQ38).value()="1’? 'oryour spouse/partner’ : "~ own a home? Forthe purposes of this survey a home
is defined as a house, condo, apartment, mobile home, etc. (with or without a mortgage). (' ghidInst’)[5].label()*

Q Yes (1)

QO No(2)

F2-F2

[Open Text * Numeric ¢ Not required ¢ Lower limit=1 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=3 ¢
Columns=3]

Howmanyhomes do you (’xQ38’).value()=="1"? ’and your spouse/partner’ : " currently own? If youown any
time share(s), do not include them in your answer. (' ghidInst')[6].label()*

ANumericOnly(’F2_1I’)"
(D home(s) (1)

F2newa - F2newa
[Not required]

During the last twelve months, did you f(’xQ38").isect(set(1)).size() >0 ? "oryour spouse/partner” : "~ do anyof
the following? “f(’qhidInst’)[7].label()*

U Buya home(1)

U Sell a home (2)

U Sell a home in a short sale (3)

U Foreclose on a home, lose a home in foreclosure or repossession (4)
Q None of the above (5) [Keep position ® Exclusive]



Q43intro - Q43intro

The next few questions are about your primary residence (that is, the placewhere you usually live).

Q43-Q43
[Not required]

Do you *M('xQ38').value()=="1"? ’or your spouse/partner’ : ’ own orrent your primary
residence?M{(’ghidInst’)[5].1abel()*

Q Own (1)

Q Rent(2)

[Keepposition ® Other]

F3new- F3new
When did you buy this home? (' qhidInst)[19].label()*

F3newx1 -Month

F3newx2 -Year

(9]

Q January (1)
Q February(2)

Q 2019(2019)
Q 2018(2018)

O March (3) QO 2017(2017)
Q April (4) Q2016 (2016)
O May (5) QO 2015(2015)
Q June (6) Q2014 (2014)
Q July (7) Q2013 (2013)
O August (8) QO 2012(2012)

Q September (9)
Q October(10)

Q November(11)
Q December(12)

Q 2011 (2011)
Q 2010(2010)
Q 2009 (2009)
Q 2008 (2008)
Q 2007 (2007)
Q 2006 (2006)
Q 2005 (2005)
Q 2004 (2004)
Q 2003 (2003)
Q 2002 (2002)
Q 2001 (2001)
Q 2000 (2000)
Q 1999 (1999)
Q 1998 (1998)
Q 1997 (1997)
Q 1996 (1996)
Q 1995 (1995)
Q 1994 (1994)
Q 1993 (1993)
Q 1992 (1992)
Q 1991 (1991)
Q 1990 (1990)
Q 1989 (1989)
Q 1988 (1988)
Q 1987 (1987)
Q 1986 (1986)




F3newx1 -Month F3newx2 -Year
Q 1985(1985)
Q 1984 (1984)
Q 1983 (1983)
Q 1982(1982)
Q 1981 (1981)
Q 1980 (1980)
Q 1979(1979)
Q 1978 (1978)
Q 1977(1977)
Q 1976 (1976)
Q 1975(1975)
Q 1974 (1974)
Q 1973 (1973)
Q 1972(1972)
Q1971 (1971)
Q 1970(1970)
Q 1969 (1969)
Q 1968 (1968)
Q 1967 (1967)
Q 1966 (1966)
Q 1965 (1965)
Q 1964 (1964)
Q 1963 (1963)
Q 1962 (1962)
Q 1961 (1961)
Q 1960 (1960)
Q 1959(1959)
Q 1958(1958)
Q 1957(1957)
Q 1956 (1956)
Q 1955(1955)
Q 1954 (1954)
Q 1953 (1953)
Q 1952(1952)
Q 1951(1951)
Q 1950(1950)
Q Before 1950(1949)

F3newe - F3newe

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

What did youpay for this home?"f(’ghidInst')[6].label()*
ANumericOnly('F3newe 1 )"
1 dollars (1)




F4-F4

[Open Text ® Numeric ¢ Not required ® Lower limit=0 * Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

About howmuchdo youthink yourhomewould sell for on today’s market? f(’ghidInst’)[6].label()*
ANumericOnly(CF4_1')"
1) dollars (1)

F4new - F4new

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Abouthowmuchdo youexpectyourhome will sell fora year from now? (' ghidInst’)[6].label()*
“NumericOnly(CurrentForm()+’_I’)"
(1) dollars (1)

F4bversion
[Hidden variable]

selects which version respondent will see -- hidden in live survey

WILL ONLY SHOW VERSION 1 IF F4 IS ANSWERED. OTHERWISE WILL SELECT OPTION 2

Q Version 1 (1)
Q Version 2 (2)

F4b-F4b

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper limit=100 ¢
Upper limit type=SmallerOrEqual ¢ Total Digits=3]

What do you think is the percentchance that thevalue of yourhome oneyear from today will be...
~M(qhidInst’)[4].Jabel()®

ANumericOnly(CF4b_1')" “"NumericOnly(F4b_2’)""NumericOnly('’F4b_3)"“NumericOnly('F4b_4’)*
ANumericOnly(CF4b_5)" "NumericOnly(’F4b_6)"

M(CF4bversion’).value()=="1"? f(F4label')[1].label(): percent
"lowerby 10% ormore’ (1) chance (1)
M(F4bversion’).value()="1"? f(F4label')[2].label(): percent
‘lowerby 5% to 10%’" (2) chance (2)
M(CF4bversion’).value()=="1"? f(F4label')[3].label(): percent
lowerby 0% to 5%’ (3) chance (3)
M(F4bversion’).value()="1"? f(F4label')[4].label(): percent
"higherby 0% to 5%’ (4) chance (4)
M(CF4bversion’).value()=="1"? f(F4label')[5].label(): percent
‘higherby 5%to 10% (5) chance (5)
M(CF4bversion’).value()=="1"? f(F4label')[6].label(): percent

'higherby 10% ormore™ (6) chance (6)



F5-F5

[Open Text ® Numeric ¢ Not required ® Lower limit=0 * Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Abouthowmuchdo youthink yourhomewould havesold fora yearago?f(’ghidInst’)[6].label()*
ANumericOnly(CF5_1')"
1) dollars (1)

F6-F6

[Not required)

Ifyou sold yourhometoday, would the proceeds besufficient to pay off allmortgageloans (if any) and any costs of
completingthe sale? ~f(’ghidInst’)[5].label()*

Q Yes (1)
Q No(2)

Féb

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=9 +
Columns=9]

Howmuchdo you think would be left in your pocket a fter paying off yourmortgage loans (if any) andany cost of
completing the sale? f(’ghidInst’)[6].label()*

ey dollars (1)

Féc

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=9 +
Columns=9]

Howmuchdo you think you would need to pay out of pocket to finish paying offyourmortgage loans (if any) and
any costof completing the sale? f(’ghidInst’)[6].label()*

ey dollars (1)

F14-F14

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

And what about your other homes(s)? About how muchin total do you think the otherhome(s) youown would sell
foron today’s market? f('ghidlnst’)[6].label()*

ANumericOnly(CF14_1')"
1 dollars (1)

F61-Feo1
[Not required)

Ifyou sold your otherhome(s) today, would the proceeds besufficient to pay off allmortgageloans (if any) and any
costs of completingthesale of your otherhomes(s)? “f('qhidInst’)[5].label()"



Q Yes (1)
Q No(2)

Fé61b-Fe61b

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=9 +
Columns=9]

Howmuchdo you think would be left in your pocket a fter paying off your mortgage loans (if any) andany cost of
completing the sale of your otherhomes(s)? ~f(’qhidInst’)[6].label()*

1 dollars (1)

Fé6lc-Fo6lc

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=9 +
Columns=9]

Howmuchdo you think you would need to pay out of pocket to finish paying off yourmortgage loans (if any) and
any costof completing the sale of your otherhomes(s)? ~f(’qhidInst’)[6].label()*

1 dollars (1)

F17-F17
[Not required]

Do you M('xQ38’).value()=="1"? 'or your spouse/partner’ : " have any outstanding loans againstthe value ofany
of yourhomes, including allmortgages, home equity loans and home equity lines of credit? (' qhidInst')[5].label()*

Q Yes (1)

Q No(2)
F17a-F17
[Not required)

You said you ~f(’xQ38’).value()=="1’ ? 'or your spouse/partner’ : " have no outstanding loans against the value of
any of yourhomes. Is that correct? ~f('ghidInst’)[5].label()*

Q Yes (1)
QO No(2)
F18new-F18new

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

Approximately, whatis the totalamountof outstanding loans againstyour home(s), includingallmortgages and
home equity loans? f(’qhidInst’)[6].label()*

ANumericOnly(CurrentForm()+’_I’)"
1 dollars (1)

dumF17-F17
[Not required ¢ Read-only|



Do you*M(’xQ38).value()="1"? 'or your spouse/partner’ : ”* have any outstandingloans againstthe value ofany
of yourhomes, including all mortgages, home equity loans and home equity lines of credit? ~f(’qhidInst’)[5].label()*

Q Yes (1)
QO No(2)
F18new2 -F18new

[Open Text * Numeric ¢ Not required ® Lower limit=0 * Lower limit type=GreaterOrEqual * Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

Approximately, whatis the totalamountof outstanding loans againstyour home(s), includingallmortgages and
home equity loans? f(’qhidInst’)[6].label()*

ANumericOnly(CurrentForm()+’_I’)"
1 dollars (1)

F18-F18
[Not required)

Which category represents the totalamount of current outstanding loans against your home(s), including all
mortgages and homeequity loans? f(’ghidInst’)[5].label()*

Q Lessthan $25,000(1)

Q $25,000 to $49,999 (2)
Q $50,000 to $99,999 (3)
Q $100,000t0 $149,999 (4)
Q $150,000t0 $199,999 (5)
Q $200,000t0 $299,999 (6)
Q $300,000t0 $499,999 (7)
Q $500,000t0 $799,999 (8)
Q $800,0000rmore(9)

Q TI'havenoidea (10)

F19-F19

[Not required]

During the last 12 months, has thetotalamountyouf('xQ38’).value()="1"? ’and your spouse/partner’ : " owe on
youroutstanding loans a gainst your home(s) increased or decreased? (' qhidInst’)[5].label()"

Q increased by 0% ormore (1)
Q decreasedby 0% ormore (2)

F19b-F19b

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=8 +
Columns=5* Decimal places=1I]

In percentage terms, by how much did thetotal amount youowe on these outstanding loans Mf(CF19’).value()="1"?
‘increase’ : 'decrease’? “M('qhidlnst’)[9].label()"

(1) % (1)




F20-F20
[Not required]

M(F19’).value()=="1"? "What was the reason for this increasein your overallhousing loanbalance?’ : "What was
the reason forthis decrease in your overallhousingloanbalance?’* (' ghidInst’)[ 7].label()*

U Refinanced(1)

U Missed, ormade lateorincomplete paymentsand fees were added to the mortgage balance (2)
U Added a mortgageorborrowed on a homeequity line of credit (3)

U Paid down some ofthe principal on theregular schedule (4)

U Pre-paid (ahead of schedule) some of the principal (5)

U Refinanced/Negotiated Mortgage Modification (6)

Q None of the above (7) [Keep position ® Exclusive]

F20new-F20new

[Not required]

During the last 12 months were youatany time at least3 months late onmakinga housingloan payment?
M(ghidInst’)[5].label()*

Q Yes (1)

Q No(2)
F24

[Not required]

Overthe next 12 months do youexpect thetotalamountyouowe on your outstanding loans against your home(s) to
increase ordecrease? ~M(’qhidInst’)[5].label()*

Q increase by 0%ormore (1)
Q decrease by 0% ormore (2)

F24a

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=8 +
Columns=5 ¢ Decimal places=1]

In percentage terms, by how much do youexpectthe totalamount youowe on these outstanding loans to
M(CF247).value()=="1"?'increase’: 'decrease’? ~f('qhidInst’)[9].label()*

(1) % (1)

F25
[Not required]

M(F24’).value()=="1"? "What is the reason for this expected increase in your overallhousing loan balance?’: "What
is the reason forthis expected decrease in your overallhousing loanbalance? '~ (' qhidInst’)[7].1abel()*

U Expect to refinance (1)

U Expect to miss, ormake late or incomplete payments and fees will be added to the mortgage balance (2)
U Expect to add a mortgage ortakeouta home equity line of credit on my current home(s) (3)

U Expect to take out anew mortgage ona new home I expect to buy (4)

U Expect to pay down someof theprincipal on the regular schedule (5)

U Expect to pre-pay (ahead of schedule) some of the principal (6)



U Expect to refinance/negotiate mortgage modification (7)
U Expect to sellhouse(8)

U Expect to walk away from my mortgage (9)

Q None of the above (10) [Keep position ® Exclusive]

D20
[Not required]

Do you M('xQ38').value()=="1"? "or your spouse/partner" : " own part orallof a farm orbusiness?
~M(qhidInst’)[5].label()™

Q Yes (1)
O No(2)
D20b

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual * Upper
limit=100000000 * Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

What do you think is the value of your M('xQ38").value()=="1" ? "and your spouse’s/partner’s" : " share in these
farm(s) orbusiness(es) (minus anything you owe on them)? ~f(’ghidInst’)[6].label()*

ANumericOnly(CurrentForm()+’_1’)"
$(1) 1)

D20c¢

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Now, think aboutthe value ofany vehicles (such as cars, trucks, motor bikes, motor homes, trailers, boats) you
M(xQ38’).value()=="1"? "and your spouse/partner” : " may own. Taken together, whatdo you think is the total
value of these vehicles (minus anything youowe on them)? (' ghidInst’)[6].label()"

"NumericOnly(CurrentForm()+’_I’)"
$(1) )

D20d

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Now, think aboutthe value ofany additional realestate orland youf('’xQ38’).value()="1’? "and your
spouse/partner” : "*mayown and havenot already reported in this survey. Takentogether, what do youthinkis the
totalvalue ofthis additional real estate and land (minus anything you owe on them)? ~f(’ghidInst’)[6 ].label()*

"NumericOnly(CurrentForm()+’_I’)"
$(1) )

D20e

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]



Now, think aboutthe value ofany additional savings orassets (suchas cashvaluein a life insurance policy, a
valuable collection forinvestment purposes, orrights in a trust or estate) you('xQ38").value()=="1" ? "and your
spouse/partner” : " may have. Taken together, what do you thinkis the total value of these additional sa vings or
assets (minus anything youowe onthem)? ~f(’qhidInst’)[6].label()*

ANumericOnly(CurrentForm()+’_1’)"
$(1) )

G1-G1

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Next considerall outstanding debt you ('xQ38’).isect(set(1)).size() >0 ? "and your spouse/partner” : " have,
includingbalanceson credit cards (including retail cards), auto loans, student loans, other personal loans, as wellas

medicalorlegalbills, butexcludingallhousingrelated debt(suchasmortgages, home equity lines of credit, home
equity loans). Approximately, what is the total amountof your “f(’xQ38’).isect(set(1)).size()>0 ? "and your
spouse’s/partner’s" : ”” current outstanding debt?f(’ghid Inst’)[6 ].label()*

ANumericOnly(CurrentForm()+’_I’)"
1 dollars (1)

Glnew- Glnew
[Not required)

Which category represents your M('xQ38").value()=="1"? "and your spouse’s/partner’s" : " current total
outstanding debt? (please do not include any mortgage debt)? f(’ghidInst’)[5].label()*

Q Lessthan $500 (1)

Q $500 to $999(2)

Q $1,000t0$1,999 (3)
Q $2,000t0$4,999 (4)
Q $5,000t0$9,999 (5)
Q $10,000 to $19,999 (6)
Q $20,000 to $29,999 (7)
Q $30,000 to $49,999(8)
Q $50,000 to $99,999 (9)
Q $100,000 0ormore(10)
Q Thavenoidea (11)

Gla

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper limit=100 ¢
Upper limit type=SmallerOrEqual ¢ Total Digits=3]

What proportion of your M('xQ38").value()=="1"? "and your spouse’s/partner’s" : " current total outstanding debt
(excludingallhousingrelated debt) is due to: ~f(’ghidInst’)[4].label()*

"NumericOnly(CurrentForm+’_1’)"NumericOnly(CurrentForm+’_2’)""NumericOnly(CurrentForm+’_3)"
"NumericOnly(CurrentForm+"_4’)"NumericOnly(CurrentForm+’_5)""NumericOnly(CurrentForm+’_6’)"

credit cards (1) % (1)
auto loans (2) % (2)
studentloans (3) % (3)

otherpersonalloans (4) % (4)




medical bills (5) % (5)
legalbills (6) % (6)

G2-G2
[Not required)

During the last 12 months has the combined balance (that is, the totalamount you owe) of your
M(xQ38").isect(set(1)).size()>0 ? "and your spouse’s/partner’s” : " non-housing debt increased or
decreased?f(’ghidInst’)[5].label()*

Q increased by 0% ormore (1)
Q decreasedby 0% ormore (2)

G2b-G2b

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=8 +
Columns=5 ¢ Decimal places=1]

In percentage terms, by how muchhas the combined balance of your non-housing debt “f(G2’).value()="1"?
‘increased : ’decreased” duringthelast 12 months? (' ghidInst’)[9].label()*

IthasM('G2’).value()=="1"?increased : 'decreased” by (1) % (1)

G5newa - GS5newa
[Not required]

And thinking ahead, doyouexpect that your *f("xQ38’).isect(set(1)).size() >0 ? "and yourspouse’s/partner’s" : """
non-housing debtwill increase or decrease overthenext 12 months? ~f(’ghidInst’)[5].label()*

Q increase by 0%ormore (1)
Q decrease by 0% ormore (2)

G5newb - G5newb

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=8 +
Columns=5* Decimal places=1I]

In percentage terms, by how muchdo youexpectyour M('xQ38).isect(set(1)).size() >0 ? "and your
spouse’s/partner’s" : " non-housingdebtto “f(G5newa’).any('1’) ? "increase" : "decrease" overthe next 12
months *f(’ghidInst’)[9].label()*

It will M(GSnewa’).value()=="1" ?’increase’: 'decrease” by (1) % (1)

G5-G5

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=3]

And thinkingahead, whatdo you think is the percent chance that overthe next 12 months your "f('’xQ38").value()
="1"? "and your spouse’s/partner’s" : " combined non-housing debt will... “f(’qhidInst’)[4].label()*



ANumericOnly(CurrentForm()+’"_1’)*“"NumericOnly(CurrentForm()+’ 2 ) "NumericOnly(CurrentForm()+’ 3)"
ANumericOnly(CurrentForm()+’_4)"“NumericOnly(CurrentForm()+’_5 )" "NumericOnly(CurrentForm()+’_6)"
ANumericOnly(CurrentForm()+’_7)"

decrease by 10% ormore (1) percent chance (1)
decrease by 5%t010%(2) percent chance (2)
decrease by 0%t05% (3) percent chance (3)
remain unchanged (4) percent chance (4)
increase by 0%to 5% (5) percent chance (5)
increase by 5%to 10%(6) percent chance (6)
increase by 10% ormore (7) percent chance (7)

CR1-CR1

[Not required)

Now, we would like to ask you some questions about credit cards. Do youcurrently havea credit card?

Note: Please do not consider any debit card, prepaid card and suspended card. ~f(’qhidInst’)[5].label()*
Q Yes (1)
O No(2)
CRla-CRla

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=3 ¢
Columns=3]

Howmany credit cards do you currently have?

Note: Please do not consider any debit card, prepaid card and suspended card. ~f(’qhidInst’)[6].]label()*
ANumericOnly(CurrentForm()+’_1’)"
I currently have(1) credit card(s) (1)

CR8a - CR8a

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=5 ¢
Columns=3* Decimal places=2]

Whatisthe (average) interestrate youhave to pay if youhave anunpaid balanceon your credit card(s) at the end of
themonth? ~f(’qhidInst)[9].label()*

“NumericOnly(CurrentForm()+’_I’)"

The (average) interest rate onmy credit card(s)is (1) % (1)

CR8adk
U Thavenoidea (1)

CR9 - CR9

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=7 +
Columns=7)]

Last month, about how much was theunpaid balance onall your credit cards that you carried over from the previous
month?



Note: enter “$0”if you paidall your credit card balances in full last month. (' qhidInst’)[6].label()*
"NumericOnly(CurrentForm()+’_I’)"

Last month, theunpaid balance onallmy credit cards was $ (1)

CR3- CR3

[Open Text ® Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=7 +
Columns=7]

Whatisremainingcredit youstillhave available onall your credit card(s), thatis the maximum amount you can
borrow today with all your credit card(s)? “f(’ghidInst’)[6].label()*

ANumericOnly(CurrentForm()+’_I’)"
My remaining credit onallmy credit cardsis $ (1) (1)

CR7 - CR7
[Not required)

Overthe past 12 months, how oftenhave you carriedanunpaid balance from onemonthto the nexton at least one
of yourcredit cards? ~f(’qhidInst’)[5].label()*

Q Neveroralmost never.I almostalways paymy balance in fullat the end ofthe month (1)
Q A totalof 3 months orless (2)

Q Between 3 and 6 months (3)

Q Between 6 and9 months (4)

Q All 12 months. I always hadanunpaid balanceon atleastone of my credit cards (5)

G6-G6
[Not required]

Are youM('xQ38").value()=="1"? 'oryourspouse/partner : " a cosigner on any debt taken out for or with
someone else (child, spouse, others), and if so on what type ofloan? f(’qhidInst’)[7].label()*

Q No (1) [Exclusive]

U Yes, student loan (2)

U Yes, mortgage (3)

U Yes, carloan (4)

U Yes, otherloan(pleasespecify)(5)  [Other]

Go6a

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

What do you think is the value ofallthe loan(s) you AM('xQ38’).value()=="1" ? "and your spouse/partner" : "
cosigned? (’ghidInst)[6].label()*

"NumericOnly(CurrentForm()+’_I’)"
$(1) )




H7new- H7new
[Not required]

During the last 12 months did you ('xQ38").value()=="1"? 'oryour spouse/partner : " ever file or consider filing
forbankruptcy? *f(ghidInst’)[5].label()*

Q Yes (1)

QO No(2)

H8new - H8new

[Field width=1 % Not required)]

What do you think is the percentchance that over the next 12 months you AM('xQ38’).value()=="1" ? 'oryour
spouse/partner’ : "~ will file forbankruptey? ~f('qhidInst)[12].label()* *SliderSyntax(H8")"

Q ()

HS8 - H8
[Hidden variable ¢ Open Text * Not required)

What do you think is the percentchance that overthe next 12 months you [(or your spouse/partner)] will file for
bankruptcy?

1) 1)

H9
[Not required]

How would you rate your knowledge about your M(’xQ38’).value()=="1"? "own" : " debts?
AM(qhidInst’)[5].label()®

Q Nonexistent/Very Poor (1)

Q Fair/Below Average (2)

Q Good/Average (3)

Q Very good/Above Average (4)
Q Excellent (5)

H10
[Not required)
And how would you rate your knowledge aboutyour spouse’s/partner’s debts? ~f(’qhidInst’)[5].label()*

Q Nonexistent/Very Poor (1)

Q Fair/Below Average (2)

Q Good/Average (3)

Q Very good/Above Average (4)
Q Excellent (5)

H10a
[Not required)
What would yousayis yourcredit score? “f(’qhidInst)[5].label()*

Q Below 620 (1)
Q 620-679 (2)



Q 680-719 (3)
Q 720-760 (4)
Q Above 760(5)
Q Don’tknow (6)

H10b
[Not required]

Whatisthe last time you checked orlearned aboutyour credit score, orrequested a copy of your credit report?
M(qhidInst’)[5].label()®

Q Lessthanamonthago (1)

Q Between one and 6 months ago (2)

Q Between 6 and 12 monthsago (3)

QO Between 1 and2 yearsago (4)

Q More than 2 years ago (5)

Q I havenevercheckedmy credit score (6)

i2600

Next, we would like to ask you some questions about your work situation.

n-1
[Not required]
What is your currentemployment situation? ~f(’qhidInst’)[7].label()*

U Working full-time (for someone or self-employed) (1)
U Working part-time (for someone or self-employed) (2)
U Not working, but would like to work (3)

U Temporarily laid off(4)

U Onssick orotherleave (5)

U Permanently disabled orunable to work (6)

U Retiree orearly retiree (7)

U Student, at school orin training (8)

U Homemaker (9)

U Other(please specify)(10)  [Other]

I1new-1I1
[Not required]
And what is your spouse’s/partner’s current employment situation? ~f(’qhidInst’)[7].label()*

U Working full-time (for someone or self-employed) (1)
U Working part-time (for someone or self-employed) (2)
U Not working, but would like to work (3)

U Temporarily laid off(4)

U Onsick orotherleave (5)

U Permanently disabled orunable to work (6)

U Retiree orearly retiree (7)

U Student, at school orin training (8)

U Homemaker (9)

U Other(please specify)(10)  [Other]



Ilanew-I1a
[Field width=1* Not required|

What do you think is the percentchance that you will start working again (either parttime or fulltime) over the next
12 months? M(’ghidInst)[12].1abel()*

ASliderSyntax(Cll a’))™
O m

I1a-I1a
[Hidden variable ¢ Open Text ¢ Not required]

What do you think is the percentchance that you will start working again (either parttime or fulltime) overthe next
12 months?

1) 1)

I1bnew-I1b
[Field width=1* Not required)

What do you think is the percent chance that your spouse’s/partner’s will start working a gain (either part time or full
time) overthe next 12 months? (' ghidInst’)[12].label()*

ASliderSyntax(’I1 )™
o m

I1b-1I1b
[Hidden variable * Open Text ¢ Not required]

What do you think is the percent chance that your spouse’s/partner’s will start working a gain (either part time or full
time) overthe next 12 months?

1) (1)

15-15
[Not required)
Which, if any, of the following events occurred during thelast 12 months? ~f(’qhidInst)[7].label()*

U You increased thenumber of hours youwork forpay (1)

U You decreased thenumber of hours youwork forpay (2)

U Youtook a second orthird job (3)

U Youlosta job (4)

U Youlooked fora newjob(5)

U Youtooka cutinpay(6)

U You lost orhad yourhealth benefits reduced (7)

U You had to take furlough days off from work for which youwere not paid (8)
U Youremployerreduced or stopped contributing to your 401(k),403(b), or457 plan (9)
U You knew friend(s) or family who lost theirjob(s) (10)

U Yourspouse/partner worked forpay (11)

U Yourspouse/partnerlost a job (12)

Q None of the above (13) [Keep position ® Exclusive]



I13new-113new
[Field width=1* Not required|

Thinkingabout work in general and not just your presentjob (if you currently work), what doyouthink is the
percent chance that you will be working full-time a fter you reach age 62?f(’qhidInst’)[12].1abel()*

ASliderSyntax(’l13)"
Q@

113-113
[Hidden variable ¢ Open Text ¢ Not required]

Thinkingabout work in general and not just your presentjob (if you currently work), what doyouthink is the
percent chance that youwill be working full-time a fter you reach age 62?

1) 1)

I15new-115new
[Field width=1* Not required)

Thinkingabout work in general and not just your presentjob (if you currently work), what doyouthink s the
percent chance that you will be working full-time a fter you reach age 67?f(’qhidInst’)[12].1abel()*

ASliderSyntax(’l15)"
o m

115-115
[Hidden variable * Open Text ¢ Not required]

Thinkingagain about work in general and not just your presentjob (if you currently work), what do you think is the
percent chance that youwill be working full-time a fter you reach age 677

1) (1)

17-117

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual * Upper limit=999 ¢
Upper limit type=SmallerOrEqual * Total Digits=4 ¢ Columns=4 ¢ Decimal places=I]

At whatage doyouplan to retire from working for pay altogether?
"NumericOnly(CurrentForm()+’_I’)"
At (1) yearsofage (1)

118-118
[Not required]
Hasthe ageat whichyouplan to retire changed since 12 months ago? ~f(’ghidInst’)[5].label()*

Q Inowplan to retire soonerthanI did 12 monthsago (1)
Q No change in plans (2)
Q Inowplan to retire laterthanI did 12 months ago (3)



119-119

[Open Text ® Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper limit=999 ¢
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Columns=4 ¢ Decimal places=1]

How many years earlier do you expectto retire compared to whatyouhad planned? f(’ghidInst)[6 ].label()*
ANumericOnly(CurrentForm()+’_1’)"
) year(s) (1)

I19a-119a
[Not required)
Why do you now planto retire sooner than you did 12 months ago? *f(’ghidInst’)[5].label()*

Q Somethingunexpected happened in my life andI nowneed less money to retire (1)

Q Nothingunexpected happened in my life, but I realized I will have moremoney than expected to retire (2)
Q My healthhas deteriorated and I will not be able to workas longas I expected (3)

Q Money wasnota concern. I just prefer retiring earlier over working. (4)

120-120

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual * Upper limit=999 ¢
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Columns=4 * Decimal places=I]

Howmany additional years do you expectto be working compared to whatyouhad
planned ?(’qhidInst’)[6].1abel()*

ANumericOnly(CurrentForm()+’_I’)"
(1) year(s) (1)

120a-120a
[Not required)
Why do you now planto retire later than youdid 12 months ago? *f(’ghidInst’)[5].label()"

Q Somethingunexpected happened in my life and I now need more money to retire (1)

Q Nothingunexpected happenedin my life, but I realized I will need more money than expected to retire (2)
O My healthhas improvedandI cannow work longer thanI expected (3)

Q Money wasnota concern. I just prefer working longer over retirement (4)

121a-121a

[Not required]

Is your spouse/partner younger than 67? A( ghidInst’)[5].label()®
Q Yes (1)

O No(2)

I21new-121new

[Field width=1 % Not required)]

Thinkingagain about work in general and not just his/her presentjob (if he/she currently works), whatdo you think
is the percent chance that your spouse/partner will be working full-time a fter he/she reaches age 67?
~M(qhidInst’)[12].label()*



ASliderSyntax(CI2 1)™
Q)

121-121
[Hidden variable ¢ Open Text ¢ Not required]

Thinkingagain about work in general and not just his/her presentjob (if he/she currently works), whatdo you think
is the percent chance thatyour spouse/partner will be working full-time a fter he/she reaches age 67?

1) 1)

121b-121b
[Not required]

Overthe past 12 months, havethe chances of you "f("xQ38’).value()=="1’ ? 'and your spouse/partner : " leaving
an inheritance increased, decreased or stayed the same? (" ghidInst’)[5].1abel()*

Q Increased(1)

Q Decreased(2)

Q Stayedthe same(3)
123anew

[Field width=1* Not required)

What do you think is the percent chance that you “f("xQ38’).value()=="1’? "and your spouse/partner" : " will end
up leaving aninheritance? “f(’ghidInst’)[12].label()*

ASliderSyntax(’I2 3a’)™
O m

123a
[Hidden variable * Open Text ¢ Not required]
What do you think is the percentchance that you [(and your spouse/partner) will end up leavingan inheritance?

(1) 1)

123b

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=9 +
Columns=6]

Approximately how much do you expect toleave as inheritance? *f(’ ghidInst’)[6].1abel()*
“NumericOnly(CurrentForm()+’_I’)"
$(1) 6y

Qmortlnew-Qmortl new
[Field width=1* Not required|
What do you think is the percent chance that you will live to age 65? (' qhidInst’)[12].label()*



ASliderSyntax(’Qmortl’)"
Q)

Qmortl -Qmortl
[Hidden variable ¢ Open Text * Not required]
What do you think is the percentchance that you willlive to age 65?

1) (1)

Qmort2new- Qmort2new

[Field width=1* Not required|

What do you think is the percent chance that you will live to age 75?f(’ghidInst’)[ 12].label()*
ASliderSyntax(’Qmort2)"

o

Qmort2 -Qmort2
[Hidden variable ¢ Open Text ¢ Not required)
What do you think is the percentchance that you willlive to age 75?

1) (1)

Qmort3new- Qmort3new

[Field width=1* Not required|

What do you think is the percent chance that you will live to age 8 5?f(’ghidInst’)[ 12].label()*
ASliderSyntax(’Qmort3)"

o

Qmort3 -Qmort3
[Hidden variable ¢ Open Text * Not required)
What do you think is the percentchance that you willlive to age 85?

(9] )

Qmort4new- Qmortdnew

[Field width=1* Not required|

What do you think is the percent chance that you will live to age 95?f(’ghidInst’)[ 12].label()*
ASliderSyntax(’Qmort4)"

O m

Qmort4 -Qmort4

[Hidden variable ¢ Open Text ¢ Not required)
What do you think is the percentchance that you willlive to age 95?



1) 1)

122new-122new
[Field width=1* Not required)]

Assumingthat you willreach age 62 (the eligibility age for Social Security), what do youthink is the percent chance
that you willreceive any Social Security benefits? (' ghidInst’)[12].1abel()*

ASliderSyntax(’[22))"
O m

122-122
[Hidden variable * Open Text ¢ Not required]

Assumingthat you willreach age 62 (the eligibility age for Social Security), what doyouthink is the percent chance
that you willreceive any Social Security benefits??

1) (1)

123intro -123intro

Supposethatyouwill indeed receive Social Security benefits in the future. We will ask some questions aboutwhen
you expect toreceive thesebenefits and how much you think they will be.

123-123

[Open Text ® Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper limit=999 ¢
Upper limit type=SmallerOrEqual ¢ Total Digits=4 ¢ Columns=4 ¢ Decimal places=I]

At whatage doyouexpect to start collecting these benefits?
ANumericOnly(CurrentForm()+’_1’)"
At (1) yearsofage (1)

124 -124

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper
limit=100000000 * Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

When you reach “Math.round(f('123°)[1].get())", (the age atwhich you expect to start collecting Social Security
benefits), how much doyouexpect your monthly Social Security benefits to be in today’s dollars?
(' qhidInst’)[6].1abel()®

ANumericOnly(CurrentForm()+’_1’)"
$(1) permonth (1)

125-125
[Not required]

In this question, we ask you to thinkabout what you would do orplan to doif you reach
“Math.round(f(123)[1].get())" (the age at which you expectto start collecting Social Security benefits) and
everyone’s Social Security benefits (as computed under the current rules), including your own, were cut by 30
percent. Would you...? (' qhidInst’)[24].label()*



Definitely yes (1) | Maybe (2) [ Definitely not (3)

Work longerhours (1) Q Q Q
Look fora higher-payingjob(2) @) O O
Return to work (3) O O Q
Postpone retirement (4) O O Q
Claim Social Security benefits later (5) O ®) ®)
Spend less before retirement (6) O @) @)
Spend less after retirement (7) Q O Q

D21

[Not required]

Besides any Social Security benefits N(f(C1)any(1’,’3") && !f(C1’).any('8)) || (f(C1’).any('2",4) &&
1f(C1’).any('9’)) ?'and payments from your Defined Benefit account(s) : " do youexpectto receiveany other
regularincomeafteryouretire? ~f('qhidInst)[5].label()*

Q Yes (1)

Q No(2)
D21a

[Not required)

Would you be able to name thealternative sources of income youexpect to receive other than Social Security
Benefits \(f(Cl’).any('1’,3") && f(C1’).any('8")) || (f(C1’)any(2’,4) && f(C1’).any(9")) ? 'and payments from
your Defined Benefit account(s) : "~? ~('qhidInst’)[24].label()*

Yes (1) | No(2)

Transfers fromrelatives (e.g. children) (1)

Rentalincome (2)
Interest/Returns on Savings and Investments (4)
Other (please specify): (3)

O|0|0|0
O|0|0|0

D22

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Whatisthe expected total monthly amountof additional income you expect toreceive after youretire?
~M(qhidInst’)[6].label()*

"NumericOnly(CurrentForm()+’_I’)"
1 dollars permonth (1)

D23

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Howmuchmoneydo youf("xQ38’).value()=="1"? "and your spouse/partner" : " expectto have saved (including
funds in any Defined Contribution plan(s), IR As, and cash, checkingand savings account) by the time youretire?

~M(qhidInst’)[6].Jabel()®
"NumericOnly(CurrentForm()+’_I’)"
1 dollars (1)




D23a

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Howmuchmoneyoveralldo you think youwould need tobe able to retire (while keeping your standard ofliving)?
~M(qhidInst’)[6].Jabel()"

ANumericOnly(CurrentForm()+’_I’)"
1 dollars (1)

D24

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=3 ¢ Columns=3]

Forhowmanyyears do youexpect your savings to be sufficient to live off? *(qhidInst’)[6].1abel()*
ANumericOnly(CurrentForm()+’_1’)"
0y year(s) (1)

D25
[Not required]

Takenaltogether (thatis accounting forall possible savings, income, social security, defined benefit amounts) do
you think that youwill have too little, too much, or about the right amountof money to meetyour expected
retirementneeds? (' ghidInst’)[5].label()*

Q Too little (1)
Q Toomuch(2)
Q About right amount (3)

D25a

[Open Text * Numeric ¢ Not required ¢ Lower limit=0 * Lower limit type=GreaterOrEqual * Upper
limit=100000000 * Upper limittype=SmallerOrEqual * Total Digits=9 ¢ Columns=9]

Twelve months ago, how muchmoney did you think youwould need to be able to retire (while keeping your
standard of living)? ~f('qhidInst’)[6].label()*

ANumericOnly(CurrentForm()+’_1’)"
(1) dollars (1)

D25b
[Not required]
Why do you now think youneed f('D25a’)[ 1].toNumber() Please type your answer below.



D26a

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual ¢ Total Digits=3 ¢ Columns=3]

At what age did youretire? f(’qhidInst’)[6].label()*
“NumericOnly(CurrentForm()+’_I’)"
(1) yearsold (1)

D26b

[Open Text ® Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual * Upper limit=100*
Upper limit type=SmallerOrEqual * Total Digits=3 ¢ Columns=3]

At whatage did your spouse/partner retire? ~f(’qhidInst’)[6].label()*
"NumericOnly(CurrentForm()+’_I’)"
) yearsold (1)

D26

[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 % Lower limit type=GreaterOrEqual ¢ Upper
limit=100000000 ¢ Upper limittype=SmallerOrEqual ¢ Total Digits=9 ¢ Columns=9]

Howmuchmoneyhad you M(’xQ38").value()=="1" ? "and your spouse/partner" : " saved (including funds in any
Defined Contributionplan(s), IRAs, and cash, checking and savings account) by the time youf(’I1new’).any(’7’) ?
"both": ”” retired? ~f(’qhidInst)[6].label()*

“NumericOnly(CurrentForm()+’_I’)"
) dollars (1)

D27
[Open Text ¢ Numeric ¢ Not required ¢ Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Total Digits=3]

At thetime you M(I1new’).any(’7’)? "both": ”* retired, forhow many years did youexpect yoursavings to be
sufficientto live off? (' qhidInst’)[6].label()*

ANumericOnly(CurrentForm()+’_1’)"
(1) years (1)

SP1lintro - SPlintro

The next questions are about your total household spending, including groceries, clothing, personal care, housing
(such as rent, mortgage payments, utilities, maintenance, home improvements), medical expenses (including health
insurance), transportation, recreation and entertainment, education, and any large items (such as homeappliances,



electronics, furniture, or car payments). Please exclude money saved orinvested, including real estate investments
like home purchases.

QSP3-QSP3
[Not required)

Did you orany members of your household make any ofthe following large purchases during the last 12 months?
~M(qhidInst’)[7].label()"

U Home appliances (1)

U Electronics, computers or cell phones (2)

U Furniture (3)

U Home repairs, improvements or renovations (4)

U Carorothervehicles, ormajor carrepairs (5)

U Trips and vacations (6)

U A house orapartment (9)

| [Keepposition ® Other|
Q None of the above (8) [Keep position ® Exclusive]

QSP4 - QSP4

[Open Text * Numeric ¢ Not required ® Lower limit=0 ¢ Lower limit type=GreaterOrEqual ¢ Upper limit=100*
Upper limit type=SmallerOrEqual * Total Digits=4 ¢ Decimalplaces=1]

What do you think is the percentchance that you ora member of your household will make any of the following
large purchases within the next 12 months?

Please enter ananswerbetween 0 and 100 foreach item below.

ANumericOnly(CurrentForm()+’_1’)" “"NumericOnly(CurrentForm()+’ 2 )" "NumericOnly(CurrentForm()+’ 3)"
ANumericOnly(CurrentForm()+’_4)"“"NumericOnly(CurrentForm()+’_5 )" "NumericOnly(CurrentForm()+’_6)"
ANumericOnly(CurrentForm()+’_7)"

Home appliances (1) percent chance (1)
Electronics, computers or cellphones (2) percent chance (2)
Furniture (3) percent chance (3)
Home repairs, improvements or renovations (4) percent chance 4)
Carorothervehicles, ormajorcarrepairs (5) percent chance (5)
Trips and vacations (6) percent chance (6)
A house orapartment (7) percent chance (7)
Endinfo

Thankyoufortakingthetime to complete this survey. Yourresponses will provide invaluable insights into the well-
beingof U.S. consumers.

Please makesure to click “NEXT” to submit your responses.

#backbutton{display none}
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